





Geddington
Cricket Club
2019
Season Review:







Geddington Cricket Club 2019 Season Review Booklet Contents Page:



Geddington Cricket Club 2019 Season Review Booklet Contents:

Geddington CC 1st XI Season Review: Page 3-14

Geddington CC NCL T-20 Championship Review: Page 15-17

> Geddington CC 2nd XI Season Review: Page 18-23

> Geddington CC 3rd XI Season Review: Page 24-28

> Geddington CC 4th XI Season Review: Page 29-33

Geddington CC Sunday XI Season Review: Page 34-42

Geddington CC Ladies Team Season Review: Page 43-48

Geddington CC Under-17's Season Review: Page 49-54

Geddington CC Under-15's Season Review: Page 55-59 Geddington CC Under-13's Season Review: Page 60-62

Geddington CC Under-11's Season Review: Page 63-64

Barkby United 1st XI V Geddington CC 1st XI: Page 65-66

Geddington CC 2019 Six A Side Review: Page 67-71

Nathan Armstrong Northants Natwest OCAS Award & 300 1st XI League Matches As Scorer: Page 72

Benedict Harvey Tony Nutt NCL Young Player Of The Year Award: Page 73

Geddington CC Junior Presentation Evening: Page 74

Geddington CC Senior Presentation Night: Page 75-77

Northamptonshire Over 50's V Lincolnshire Over 50's Page 78

Geddington CC 2019 County Representatives & Misc Photos:
Page 79



Pictures: Match Pictures from the Lewis Charity Football Match between Andrew Reynoldson Select XI V Geddington Cricket Club XI, the match finished in 3-3 draw at Geddington Cricket Club in January.

Geddington Cricket Club 1st XI 2019 Season Review:



Geddington 1st XI 2019 Season: Northamptonshire Cricket League Premier Division: 8th Place

Northamptonshire Cricket League Premier Division 2019 Table:

Position	Team	Played	Points
С	Peterborough Town	22	373
2	Finedon Dolben	22	358
3	Old Northamptonians	22	328
4	Oundle Town	22	299
5	Northampton Saints	22	286
6	Rushden & Higham Town	22	284
7	Brigstock	22	250
8	GEDDINGTON	22	243
9	Brixworth	22	178
10	Horton House	22	160
11	Desborough Town	22	152
R	Wollaston	22	116

Geddington Cricket Club 1st XI Northamptonshire Cricket League Premier Division 2019 Results:

Saturday 27th April 2019 V Old Northamptonians (Home) Match Result: Old Northamptonians won by 10 wickets. Geddington 175 48.3 Overs (Adil Arif 55, Bradley Armer 44, Jack Thurman 16; T Webb 6-27, N Cooper 2-31) Old Northamptonians 178-0 21.4 Overs (R White 125*, W Heathfield 50*) Saturday 4th May 2019 V Desborough Town (Away) Match Result: Geddington won by 8 wickets. Desborough Town 100 38.5 Overs (J Bindley 49, S Renshaw 19; George Parker 4-32, Chris Murdoch 3-14, Al Mahmud Hasan 2-28) Geddington 103-2 22.4 Overs (Bradley Armer 41*, Chris Harrison 35, Jack Parker 11; S Harris 1-30) Saturday 11th May 2019 V Brixworth (Away) Match Result: Brixworth won by 2 runs. Brixworth 170 38.4 Overs (W Thomas 35, S Crook 32; George Parker 5-45, Jack Parker 2-19, Adil Arif 2-38) Geddington 168 45.4 Overs (Jack Parker 41, Adil Arif 41, Tiaan Raubenheimer 23; L Evans 3-32, S Crook 3-72) Saturday 18th May 2019 V Northampton Saints (Home) Match Result: Geddington won by 88 runs. Geddington 266-4 50 Overs (Bradley Armer 122, Andrew Reynoldson 50, Jack Parker 43, Adil Arif 17*; M Rizvi 2-76) Northampton Saints 178 48.1 Overs (E Gay 69, Z Khawaja 28; Chris Murdoch 3-23, George Parker 3-61, Al Mahmud Hasan 2-39) Saturday 25th May 2019 V Peterborough Town (Away) Match Result: Peterborough Town won by 9 wickets. Geddington 219-9 50 Overs (Ricardo Vasconcelos 94, Andrew Reynoldson 42, Tiaan Raubenheimer 18; M Edwards 5-61, L Bruce 1-45) Peterborough Town 222-1 33.4 Overs (L Bruce 100*, C Milner 62, R Sayer 52*; Ricardo Vasconcelos 1-23) Saturday 1st June 2019 V Finedon Dolben (Home) Match Result: Finedon Dolben won by 7 wickets. Geddington 167-8 50 Overs (George Parker 37*, Benedict Harvey 31, Chris Murdoch 20; J Chopping 4-40, C Goode 1-13) Finedon Dolben 168-3 28.1 Overs (E Cox 62, S Davis 44, J Keeping 33*; George Parker 2-58, Jack Parker 1-25) Saturday 8th June 2019 V Brigstock (Away) Match Result: Brigstock won by 3 wickets. Geddington 178-9 Dec 45.4 Overs (Andrew Reynoldson 55, Adil Arif 38, Chris Harrison 31, Tiaan Raubenheimer 27; T Lukas 4-41) Brigstock 179-7 23 Overs (T Lukas 60, Suk Singh 40; Al Mahmud Hasan 3-39, Adil Arif 1-3, Bradley Armer 1-12, Chris Murdoch 1-29) Saturday 15th June 2019 V Wollaston (Home) Match Result: Interrupted Draw. Wollaston 175-9 50 Overs (M Jones 45, H Broome 41; Chris Murdoch 5-42, George Parker 3-53, Adil Arif 1-41) Geddington 40-2 8.2 Overs (Tiaan Raubenheimer 17*, Andrew Reynoldson 14*, Bradley Armer 4; L North-Row 1-14, S Gribben 1-25) Saturday 22nd June 2019 V Rushden & Higham Town (Away) Match Result: Rushden & Higham Town won by 21 runs. Rushden & Higham Town 205-6 50 Overs (C Ruwansiri 69, L Gough 59*; George Parker 2-52, Chris Murdoch 2-74, Bradley Armer 1-6) Geddington 184 47 Overs (Andrew Reynoldson 57, Jack Parker 30, Adil Arif 29; C Ruwansiri 4-51, C Law 3-63) Saturday 29th June 2019 V Oundle Town (Home) Match Result: Geddington won by 100 runs. Geddington 248-5 50 Overs (Bradley Armer 89, Andrew Reynoldson 53*, Chris Harrison 48, Jack Parker 25; J Charlton 2-52) Oundle Town 148 41.3 Overs (C Craig 59, H Craig 39; George Parker 6-63, Chris Murdoch 2-14, Adil Arif 2-17) Saturday 6th July 2019 V Horton House (Away) Match Result: Interrupted Draw. Geddington 188 47.5 Overs (George Parker 48, Chris Murdoch 38*, Adil Arif 21; M Chalcraft 4-58, C Blake 2-27) Horton House 180-7 37 Overs (K Parmar 65, A Neate 49*; Jack Parker 3-22, Adil Arif 1-25, George Parker 1-31, Bradley Armer 1-40) Saturday 13th July 2019 V Old Northamptonians (Away) Match Result: Old Northamptonians won by 127 runs. Old Northamptonians 258-7 50 Overs (A Basra 96, R Christopherson 52; Chris Murdoch 3-42, Bradley Armer 2-47, Adil Arif 2-57) Geddington 131 33.5 Overs (Jack Parker 42, Harry Bolton 22*, Chris Harrison 14; R White 4-34, R Kaufman 3-22) Saturday 20th July 2019 V Desborough Town (Home) Match Result: Geddington won by 8 wickets. Desborough Town 183 46 Overs (S Renshaw 67, C Burger 49*; Bradley Armer 5-38, George Parker 2-48, James Taylor 1-17) Geddington 188-2 45.2 Overs (Bradley Armer 80*, Jack Parker 46, Chris Harrison 23, Andrew Reynoldson 19*; S Renshaw 1-18) Saturday 27th July 2019 V Brixworth (Home) Match Result: No Result. Geddington 219-2 30 Overs (Jack Parker 91*, Andrew Reynoldson 62*, Chris Harrison 27, Bradley Armer 23; A Lacey 1-15) Brixworth 70-7 19 Overs (M Qureshi 23, H Timm 20; George Parker 3-17, Cameron Braans 2-9, Bradley Armer 2-22) Saturday 3rd August 2019 V Northampton Saints (Away) Match Result: Geddington won by 64 runs. Geddington 252-8 50 Overs (Chris Harrison 91, George Parker 50, Adil Arif 29, Benedict Harvey 21*; M Shoaib Yaqub 3-37) Northampton Saints 188 43.4 Overs (Z Khawaja 54, M Wolstenholme 44*; Tiaan Raubenheimer 5-29, Jack Parker 2-24, Adil Arif 2-33) Saturday 10th August 2019 V Peterborough Town (Home) Match Result: Peterborough Town won by 8 wickets. Geddington 74 31.4 Overs (Adil Arif 20, Bradley Armer 13; M Edwards 4-19, D Mohammed 2-26, J Smith 1-2) Peterborough Town 75-2 14 Overs (J Smith 34*, C Milner 24; George Parker 2-21) Saturday 17th August 2019 V Finedon Dolben (Away) Match Result: Geddington won by 6 runs.
Geddington 212-6 50 Overs (Andrew Reynoldson 100*, Jack Parker 62, Patrick Harrington 14; E Hodgson 2-38, T Brett 1-25) Finedon Dolben 206 49.1 Overs (J Chopping 61, S Davis 37; George Parker 3-23, Jack Parker 3-34, Bradley Armer 2-23) Saturday 24th August 2019 V Brigstock (Home) Match Result: Geddington won by 8 runs. Geddington 217-4 50 Overs (Andrew Reynoldson 58, Bradley Armer 49, Adil Arif 40*, Ben Silver 28*; J Delargy 2-26) Brigstock 209 49.3 Overs (Suk Singh 48, T Swann 44; Andrew Reynoldson 3-35, George Parker 3-39, Chris Murdoch 2-37) Saturday 31st August 2019 V Wollaston (Away) Match Result: Geddington won by 136 runs.
Geddington 215-8 50 Overs (Benedict Harvey 100, Ben Silver 48, Jack Parker 30; R Bassin 3-39, L North-Row 3-42) Wollaston 79 31.3 Overs (C Perry 27; Cameron Braans 4-17, Adil Arif 4-21, Jack Parker 1-0, Chris Murdoch 1-7) Saturday 7th September 2019 V Rushden & Higham Town (Home) Match Result: Geddington won by 38 runs. Geddington 253-5 50 Overs (Andrew Reynoldson 80*, Adil Arif 70*, Patrick Harrington 36, Bradley Armer 25; J Martin 1-12) Rushden & Higham Town 215 47.3 Overs (R Thapar 52, S Kumar 28; Jack Parker 4-43, George Parker 3-37, Chris Murdoch 2-12) Saturday 14th September 2019 V Oundle Town (Away) Match Result: Oundle Town won by 6 wickets. Geddington 237 49.3 Overs (Patrick Harrington 71, Adil Arif 37, Chris Harrison 33, Ben Silver 30; J Bolsover 4-31, H Craig 3-49) Oundle Town 240-4 46.2 Overs (D Robinson 98, J Bolsover 48; Jack Parker 1-23, George Parker 1-48, Adil Arif 1-55) Saturday 21st September 2019 V Horton House (Home) Match Result: Horton House won by 3 wickets.

Geddington 129 32 Overs (Andrew Reynoldson 22, Jack Parker 21, Patrick Harrington 20; K Parmar 4-46, C Blake 2-13) Horton House 131-7 36 Overs (J Redding 35, J Parmar 26; George Parker 4-29, Andrew Reynoldson 2-15, Chris Murdoch 1-29)

Geddington Cricket Club 1st XI 2019 NCL Premier Division Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Andrew Reynoldson	19	7	678	56.50	100	7	1
Bradley Armer	20	2	583	32.39	122	2	1
Jack Parker	21	1	493	24.65	91	2	0
Adil Arif	18	3	442	29.47	70	2	0
Chris Harrison	21	0	412	19.62	91	1	0
George Parker	15	1	208	14.86	50	1	0
Benedict Harvey	11	2	197	21.89	100	0	1
Patrick Harrington	7	0	149	21.29	71	1	0
Ben Silver	7	2	138	27.60	48	0	0
Tiaan Raubenheimer	9	2	113	16.14	27	0	0
Ricardo Vasconcelos	3	0	94	31.33	94	1	0
Chris Murdoch	11	6	80	16.00	38	0	0
Harry Bolton	7	2	48	9.60	22	0	0
Al Mahmud Hasan	4	2	30	15.00	19	0	0
Jack Thurman	2	0	23	11.50	16	0	0
Ned Wilson	2	0	21	10.50	15	0	0
Colin Griggs	2	2	7		7	0	0
Ben York	3	1	6	3.00	4	0	0
Cameron Braans	3	1	3	1.50	2	0	0
Joshua Knight	1	0	1	1.00	1	0	0
James Taylor	1	0	1	1.00	1	0	0
Jack Connelly	1	1	0		0	0	0
Danial O'Callaghan	1	0	0	0.00	0	0	0

Geddington Cricket Club 1st XI 2019 NCL Premier Division Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
George Parker	206.4	984	47	20.94	6-63	2
Chris Murdoch	149	495	26	19.04	5-42	1
Adil Arif	113	566	20	28.30	4-21	0
Jack Parker	73	363	18	20.17	4-43	0
Bradley Armer	64.1	381	16	23.81	5-38	1
Al Mahmud Hasan	56.1	242	8	30.25	3-39	0
Cameron Braans	72	162	7	23.14	4-17	0
Tiaan Raubenheimer	15.4	77	6	12.83	5-29	1
Andrew Reynoldson	40	162	5	32.40	3-35	0
Ricardo Vasconcelos	4	23	1	23.00	1-23	0
James Taylor	15	70	1	70.00	1-17	0
Ben York	3	5	0		0-5	0
Jack Thurman	0.4	6	0		0-6	0
Jack Connelly	4	11	0		0-11	0
Jay Parmar	6	21	0		0-21	0
Colin Griggs	20	70	0		0-9	0

Geddington Cricket Club 1st XI 2019 NCL Premier Division Most Appearances:

Most Appearances:

Jack Parker, George Parker & Adil Arif Chris Harrison Bradley Armer Andrew Reynoldson Chris Murdoch Benedict Harvey Tiaan Raubenheimer

Harry Bolton Ben Silver

Patrick Harrington, Al Mahmud Hasan & Cameron Braans

22 Appearances

21 Appearances

20 Appearances

19 Appearances

17 Appearances

15 Appearances

12 Appearances

10 Appearances

9 Appearances

8 Appearances



Picture:

George Parker bowling for Geddington 1st XI against Brixworth 1st XI at Brixworth Cricket Club on 11th May 2019.

George Parker took 47 wickets for Geddington 1st XI in the 2019 NCL Premier Division Season, with best bowling figures of 6-63 V Oundle Town 1st XI at Geddington Cricket Club on 29th June 2019.

Geddington Cricket Club 1st XI 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	117	Chris Harrison-Bradley Armer	V Oundle Town 1 st XI	Home	29 th June 2019
2nd	92	Bradley Armer-Jack Parker	V Desborough Town 1st XI	Home	20 th July 2019
3rd	146*	Jack Parker-Andrew Reynoldson	V Brixworth 1st XI	Home	27 th July 2019
4th	71	Andrew Reynoldson-Jack Parker	V Rushden & Higham Town 1 st XI	Away	22 nd June 2019
5th	112	Benedict Harvey-Ben Silver	V Wollaston 1 st XI	Away	31st August 2019
6th	106*	Andrew Reynoldson-Adil Arif	V Rushden & Higham Town 1 st XI	Home	7 th September 2019
7th	74	Adil Arif-George Parker	V Northampton Saints 1 st XI	Away	3 rd August 2019
8th	71	Chris Murdoch- George Parker	V Horton House 1 st XI	Away	6 th July 2019
9th	39*	George Parker-Al Mahmud Hasan	V Finedon Dolben 1 st XI	Home	1 st June 2019
10th	24	Harry Bolton-James Taylor	V Old Northamptonians 1 st XI	Away	13 th July 2019

Geddington Cricket Club 1st XI 2019 NCL Premier Division Batting & Bowling Honours Board:

<u>50's:</u>									
Adil Arif	55	V Old Northamptonians	(Home)	27 th April 2019.					
Andrew Reynoldson	50	V Northampton Saints	(Home)	18 th May 2019.					
Ricardo Vasconcelos	94	V Peterborough Town	(Away)	25 th May 2019.					
Andrew Reynoldson	55	V Brigstock	(Away)	8 th June 2019.					
Andrew Reynoldson	57	V Rushden & Higham Town	(Away)	22 nd June 2019.					
Bradley Armer	89	V Oundle Town	(Home)	29 th June 2019.					
Andrew Reynoldson	53*	V Oundle Town	(Home)	29 th June 2019.					
Bradley Armer	80*	V Desborough Town	(Home)	20 th July 2019.					
Jack Parker	91*	V Brixworth	(Home)	27 th July 2019.					
Andrew Reynoldson	62*	V Brixworth	(Home)	27 th July 2019.					
Chris Harrison	91	V Northampton Saints	(Away)	3 rd August 2019.					
George Parker	50	V Northampton Saints	(Away)	3 rd August 2019.					
Jack Parker	62	V Finedon Dolben	(Away)	17 th August 2019.					
Andrew Reynoldson	58	V Brigstock	(Home)	24 th August 2019.					
Andrew Reynoldson	80*	V Rushden & Higham Town	(Home)	7 th September 2019.					
Adil Arif	70*	V Rushden & Higham Town	(Home)	7 th September 2019.					
Patrick Harrington	71	V Oundle Town	(Away)	14 th September 2019.					
		<u>100's:</u>							
Bradley Armer	122	V Northampton Saints	(Home)	18 th May 2019.					
Andrew Reynoldson	100*	V Finedon Dolben	(Away)	17 th August 2019.					
Benedict Harvey	100	V Wollaston	(Away)	31 st August 2019.					
		5+ Wickets:							
George Parker	5-45	V Brixworth	(Away)	11 th May 2019.					
Chris Murdoch	5-42	V Wollaston	(Home)	15 th June 2019.					
George Parker	6-63	V Oundle Town	(Home)	29 th June 2019.					
Bradley Armer	5-38	V Desborough Town	(Home)	20 th July 2019.					
Tiaan Raubenheimer	5-29	V Northampton Saints	(Away)	17 th August 2019.					

Geddington Cricket Club 1st XI 2019 NCL Premier Division Fielding Stats:

Catches:

Jack Parker 11 Catches, Andrew Reynoldson 8 Catches, Bradley Armer & Chris Harrison 7 Catches, Ben Silver & George Parker 6 Catches, Benedict Harvey & Adil Arif 5 Catches, Chris Murdoch & Al Mahmud Hasan 3 Catches, Ben York, Cameron Braans & Patrick Harrington 2 Catches, Colin Griggs, Ned Wilson, Ricardo Vasconcelos, James Taylor & Tiaan Raubenheimer 1 Catch.

Run-Outs:

Andrew Reynoldson, George Parker, Adil Arif, Al Mahmud Hasan & Ricardo Vasconcelos

Stumpings:

1 Run-Out.

Chris Harrison 3 Stumpings, Ben Silver 1 Stumping.

Geddington Cricket Club 1st XI 2019 Match Action Shots:



Pictures: Adil Arif V Old Northamptonians at Geddington Cricket Club, Al Mahmud Hasan & Chris Murdoch V Desborough Town at Desborough Town Cricket Club, Jack Parker & Tiaan Raubenheimer V Brixworth at Brixworth Cricket Club, Bradley Armer V Northampton Saints at Geddington Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 2:



Pictures: Andrew Reynoldson & Ricardo Vasconcelos & Colin Griggs V Peterborough Town at Peterborough Town Cricket Club, Chris Harrison, Ned Wilson & George Parker V Finedon Dolben at Geddington Cricket Club, Andrew Reynoldson & Bradley Armer V Brigstock at Brigstock Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 3:



Pictures: Adil Arif & Chris Murdoch V Wollaston at Geddington Cricket Club, Jack Parker & Andrew Reynoldson V Rushden & Higham Town at Rushden Town Cricket Club, Bradley Armer, Cameron Braans & George Parker V Oundle Town at Geddington Cricket Club, Chris Murdoch V Horton House at Horton House Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 4:



Pictures: Ben York V Horton House at Horton House Cricket Club, James Taylor & Jack Parker V Old Northamptonians at Old Northamptonians Cricket Club, Bradley Armer & Jack Parker V Desborough Town at Geddington Cricket Club, Andrew Reynoldson, Ben Silver & Adil Arif V Brixworth at Geddington Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 5:



Pictures: Chris Harrison, Patrick Harrington, George Parker & Tiaan Raubenheimer V Northampton Saints at Northampton Saints Cricket Club, Adil Arif V Peterborough Town at Geddington Cricket Club, Jack Parker, Andrew Reynoldson & George Parker V Finedon Dolben at Finedon Dolben Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 6:



Pictures: Bradley Armer & Adil Arif V Brigstock at Geddington Cricket Club, Ben Silver, Benedict Harvey, Adil Arif, Cameron Braans & Chris Murdoch V Wollaston at Wollaston Cricket Club, Bradley Armer V Rushden & Higham Town at Geddington Cricket Club.

Geddington Cricket Club 1st XI 2019 Match Action Shots Part 7:



Pictures: Andrew Reynoldson, Adil Arif & Andrew Reynoldson V Rushden & Higham Town at Geddington Cricket Club, Joshua Knight, Patrick Harrington & Jack Connelly V Oundle Town at Oundle Town Cricket Club, Benedict Harvey & George Parker V Horton House at Geddington Cricket Club.

Geddington Cricket Club 2019 NCL T20 Championship Season Review:



Picture Left: Cameron Braans taking three wickets with the ball for Geddington against Burton Latimer in the Semi-Final. **Picture Right:** Tiaan Raubenheimer scoring an unbeaten 44 with the bat for Geddington against Burton Latimer in the Semi-Final

Geddington Cricket Club NCL T20 Championship 2019 Group 2 Results:

Semi-Final:

Sunday 9th June 2019 V Burton Latimer (Burton Latimer CC)

Match Result: Geddington won by 8 wickets.

Burton Latimer 96-8 20 Overs (L Odell 35*, W Baines 12*; Cameron Braans 3-14, Ben York 2-7, George Parker 2-24) Geddington 100-2 17.4 Overs (Jack Parker 48*, Tiaan Raubenheimer 44*; W Baines 1-18, A Cunningham 1-25)

Final:

Sunday 9th June 2019 V Finedon Dolben (Burton Latimer CC) Match Result: Finedon Dolben won by 31 runs.

Finedon Dolben 143 19.5 Overs (E Cox 32, T Sole 21; Adil Arif 3-26, Tiaan Raubenheimer 2-2, Bradley Armer 2-28) Geddington 112 18.2 Overs (Adil Arif 25, George Parker 22, Chris Harrison 21; T Sole 3-11, B Ross 2-25)



Picture Left: George Parker scoring 22 off 21 balls with the bat for Geddington against Finedon Dolben in the Final. **Picture Right:** Adil Arif scoring 25 off 21 balls with the bat for Geddington against Finedon Dolben in the Final.

Geddington Cricket Club NCL T20 Championship 2019 Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Jack Parker	2	1	52	52.00	48	0	0
Tiaan Raubenheimer	2	1	46	46.00	44	0	0
Adil Arif	1	0	25	25.00	25	0	0
Chris Harrison	2	0	23	11.50	21	0	0
George Parker	1	0	22	22.00	22	0	0
Harry Bolton	1	0	7	7.00	7	0	0
Cole McWilliam	1	0	7	7.00	7	0	0
Ned Wilson	1	0	3	3.00	3	0	0
Ben York	1	0	3	3.00	3	0	0
Bradley Armer	2	0	3	1.50	2	0	0
Cameron Braans	1	1	2		2	0	0

Geddington Cricket Club NCL T20 Championship 2019 Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Cameron Braans	8	35	4	8.75	3-14	0
Adil Arif	5	35	3	11.67	3-26	0
George Parker	8	56	3	18.67	2-24	0
Tiaan Raubenheimer	1.5	2	2	1.00	2-2	0
Ben York	3	7	2	3.50	2-7	0
Bradley Armer	4	28	2	14.00	2-28	0
Cole McWilliam	2	11	1	11.00	1-11	0
Harry Bolton	2	13	0		0-13	0
Jack Parker	6	45	0		0-14	0

Geddington Cricket Club NCL T20 Championship 2019 Fielding Stats:

Catches:

George Parker

Tiaan Raubenheimer, Chris Harrison, Cole McWilliam, Bradley Armer & Jack Parker

Run-Outs:

Cole McWilliam

Stumpings:

1 Run-Out.

2 Catches.

1 Catch.

Chris Harrison

2 Stumpings.

Geddington Cricket Club 2019 NCL T-20 Championship Match Action Shots:



Pictures: Ben York, George Parker, Cole McWilliam & Jack Parker V Burton Latimer in the Semi-Final at Burton Latimer Cricket Club, Bradley Armer, Chris Harrison, Ned Wilson & Harry Bolton V Finedon Dolben in the Final at Burton Latimer Cricket Club.

Geddington Cricket Club 2nd XI 2019 Season Review:



Geddington 2nd XI 2019 Season: Northamptonshire Cricket League Division 3: 9th Place

Northamptonshire Cricket League Division 3 2019 Table:

Position	Team	Played	Points
C	Wellingborough Indians	22	502
P	Heyford	22	458
3	Irchester	22	448
4	Wollaston 2 nd XI	22	427
5	Oundle Town 2 nd XI	22	369
6	Rushden & Higham Town 2 nd XI	22	330
7	Old Northamptonians 3 rd XI	22	309
8	Brixworth 2 nd XI	22	299
9	GEDDINGTON 2 nd XI	22	296
10	Podington	22	263
R	Horton House 2 nd XI	22	252
R	Stony Stratford 2 nd XI	22	129

Geddington Cricket Club 2nd XI Northamptonshire Cricket Division 3 2019 Results:

```
Saturday 27th April 2019 V Podington (Away) Match Result: Geddington won by 4 wickets.
Podington 206 49 Overs (T Garlick 33, L Toseland 19; Cameron Braans 3-20, Jack Connelly 2-16, Colin Judd 2-24)
Geddington 208-6 44.5 Overs (Ben York 64, Lee Sutherland 40, Harry Bolton 26; I Hart 2-30, J Humphreys 2-38)
Saturday 4<sup>th</sup> May 2019 V Old Northamptonians 3<sup>rd</sup> XI (Home) Match Result: Old Northamptonians won by 35 runs. Old Northamptonians 138 39 Overs (D Watkin 62, A Edmonds 29; Cameron Braans 5-37, Cole McWilliam 2-23, Lee Smith 2-27) Geddington 103 36.4 Overs (Mark Thomas 22, Darren Garley 14, Cameron Braans 14; S Hill 4-2, J Khan 4-20)
Saturday 11<sup>th</sup> May 2019 V Irchester (Home) Match Result: Geddington won by 76 runs.
Geddington 232-5 50 Overs (Cameron Braans 87*, Sam Smith 47*, Lee Sutherland 43; S Lawson 2-14, J Woods 2-59)
Irchester 156 45 Overs (H Green 41, T Duxson 31; Cameron Braans 5-25, Sam Smith 2-29, Lee Smith 1-16)
Saturday 18<sup>th</sup> May 2019 V Brixworth 2<sup>nd</sup> XI (Away) Match Result: Brixworth won by 85 runs.

Brixworth 207-7 50 Overs (A Shulver 51, C Roberts 44*; Ben York 2-33, Sam Smith 2-34, Jack Connelly 1-37)

Geddington 122 36 Overs (Colin Judd 45, Brando Biddle 18, Cole McWilliam 13; R McLean 3-24, S Bonthuys 3-26)
                                    Saturday 25th May 2019 V Heyford (Home) Match Result: Heyford won by 61 runs.
Heyford 279-9 50 Overs (S Legge 63, J Edwards 56; Colin Judd 3-26, Ben York 2-46, Cameron Braans 2-49)
Geddington 218 46 Overs (Brando Biddle 54, Cameron Braans 25, Harry Bolton 24; J Edwards 3-41, R Hopkins 3-46)
                        Saturday 1st June 2019 V Stony Stratford 2nd XI (Away) Match Result: Geddington won by 50 runs.
Geddington 230-8 50 Overs (Mark Thomas 72, Ben York 45, Joshua Knight 23; M Gaitskell 3-25, A Davies 3-27)
Stony Stratford 180 42.3 Overs (M Gaitskell 29*, J Walsh 29; Jack Connelly 3-52, Sam Smith 2-14, Ben York 2-36, Cole McWilliam 2-39)
                              Saturday 8th June 2019 V Wellingborough Indians (Home) Match Result: Match Cancelled.
                            Saturday 15th June 2019 V Wollaston 2nd XI (Away) Match Result: Wollaston won by 1 wicket.
Geddington 133 41.4 Overs (Marcus Knight 32, Charlie Gingell 30, Colin Judd 29; M Gibbs 5-31, S Musgrave 2-24) Wollaston 137-9 43 Overs (J Pike 26*, S Driver 26; Colin Judd 4-7, Marcus Knight 2-18, Jack Connelly 1-21)
Saturday 22<sup>nd</sup> June 2019 V Rushden & Higham Town 2<sup>nd</sup> XI (Home) Match Result: Rushden & Higham Town won by 4 wickets. Geddington 182 43.4 Overs (Lee Sutherland 55, Mark Thomas 28, Joshua Knight 19, Sam Smith 19; R Eady 3-35, D Harris 2-34)
Rushden & Higham Town 183-6 49 Overs (D Harris 59*, P Materna 33; Lee Smith 3-15, Sam Smith 2-27, Ben York 1-23)
                      Saturday 29th June 2019 V Oundle Town 2nd XI (Away) Match Result: Oundle Town won by 7 wickets.
Geddington 239-8 50 Overs (Joshua Knight 73, Ben Templeman 39, Lee Sutherland 39; G Martin 2-42, S Denton 2-42) Oundle Town 243-3 46.5 Overs (J Dalley 52, G Martin 50*, M Ingram 44; Colin Judd 2-41, Ben York 1-76)
Saturday 6<sup>th</sup> July 2019 V Horton House 2<sup>nd</sup> XI (Home) Match Result: Geddington won by 4 wickets.

Horton House 143 39.1 Overs (E Glover 55, L Redding 16; Jack Connelly 5-21, Cole McWilliam 3-40, Marcus Knight 1-0)
Geddington 144-6 46.3 Overs (Marcus Knight 37, Lee Sutherland 32, Cole McWilliam 19*; B Jordan 2-24, E Glover 2-35)
                                 Saturday 13th July 2019 V Podington (Home) Match Result: Podington won by 12 runs.
Podington 177 47.1 Overs (J Barker 33, J Humphreys 21; Lee Smith 3-23, Jack Connelly 3-33, Sam Smith 2-38)
Geddington 165 42.5 Overs (Joshua Knight 43, Colin Judd 37*, Marcus Knight 19; I Hart 4-25, J Hart 3-23)

Saturday 20<sup>th</sup> July 2019 V Old Northamptonians 3<sup>rd</sup> XI (Away) Match Result: Geddington won by 3 runs.
Geddington 194-7 50 Overs (Joshua Knight 36, Colin Judd 31, Mark Thomas 28; J Hill 4-40, A Patel 1-30)
Old Northamptonians 191 49 Overs (D Watkin 57, J Jenkins 31; Colin Judd 4-41, Lee Smith 2-26, Harry Bolton 1-14)
                                    Saturday 27th July 2019 V Irchester (Away) Match Result: Irchester won by 9 runs.
Irchester 166-8 37 Overs (H Green 43, S Lawson 28*; Colin Judd 3-31, Sam Smith 2-32, Cole McWilliam 1-18)
Geddington 157 35.1 Overs (Ned Wilson 38, George York 28, Colin Judd 17; G Green 5-34, H Green 2-16)

Saturday 3<sup>rd</sup> August 2019 V Brixworth 2<sup>nd</sup> XI (Home) Match Result: Brixworth won by 14 runs.

Brixworth 224-8 50 Overs (C Roberts 54, A Houghton 32; Ben York 2-36, Colin Judd 2-40, Lee Sutherland 1-22)

Geddington 210 49.3 Overs (Joshua Knight 78, Lee Sutherland 25, Ned Wilson 19; M Kemp 4-24, P Gardner 1-6)
                                Saturday 10th August 2019 V Heyford (Away) Match Result: Geddington won by 57 runs.
Geddington 224-6 50 Overs (Colin Judd 51, Sam Smith 46, Brad Harden 42, Ben Templeman 26; B Taylor 1-22, J Edwards 1-37)
Heyford 167 45.3 Overs (W Cooper-Harris 41, T Pearson 27; Sam Smith 3-19, Mark Pearson 3-44, Cole McWilliam 2-15)

Saturday 17<sup>th</sup> August 2019 V Stony Stratford 2<sup>nd</sup> XI (Home) Match Result: Geddington won by 24 runs.

Geddington 203-9 50 Overs (Marcus Knight 62, Brad Harden 25, Ned Wilson 23; S Richardson 2-17, M Parkin 2-23)
Stony Stratford 179 48 Overs (S Ravikumar 38, O Peter 35; Marcus Knight 2-17, Ned Wilson 2-33, Jack Connelly 2-36)
         Saturday 24th August 2019 V Wellingborough Indians (Away) Match Result: Wellingborough Indians won by 7 wickets.
Geddington 141 41.2 Overs (Joshua Knight 53, Ben Templeman 22, Marcus Knight 18; Pritam Patel 7-29, Amit Patel 2-8)
Wellingborough Indians 145-3 21.1 Overs (Sunny Patel 39, S Mangalorkar 26*; Jack Connelly 2-16, Sam Smith 1-20)
Saturday 31<sup>st</sup> August 2019 V Wollaston 2<sup>nd</sup> XI (Home) Match Result: Wollaston won by 10 runs.
Wollaston 194 48.5 Overs (P Wilkinson 54, J Pike 30; Sam Smith 3-16, Jack Connelly 3-47, Ned Wilson 2-26)
Geddington 184 49 Overs (Richard Loak 35, Mark Thomas 27, Ned Wilson 25; S Driver 2-16, S Musgrave 2-19)
            Saturday 7th September 2019 V Rushden & Higham Town 2nd XI (Away) Match Result: Geddington won by 84 runs.
Geddington 272-4 50 Overs (Lee Sutherland 94*, Ned Wilson 58, Mark Thomas 57, Joshua Knight 22; A Payne 2-67)
Rushden & Higham Town 188 42.2 Overs (O Woodhouse 87, W Liptrot 52; Cole McWilliam 3-16, Joshua Knight 2-5, Marcus Knight 2-
20)
Saturday 14<sup>th</sup> September 2019 V Oundle Town 2<sup>nd</sup> XI (Home) Match Result: Oundle Town won by 62 runs.
Oundle Town 220 49.5 Overs (S Shah 55, J Jeffrey 40; Lee Smith 3-40, Colin Judd 2-23, Sam Smith 2-36, Mark Pearson 2-39)
```

Geddington 158 46.3 Overs (Ben Templeman 31, Sam Smith 24, Colin Judd 22; C Hills 4-17, D Hoyland 3-43)

Geddington 222-8 50 Overs (Ned Wilson 78, Joshua Knight 30, Harry Spence 29; Z Mirza 4-30, T Knibbs 2-38)

Saturday 21st September 2019 V Horton House 2nd XI (Away) Match Result: Horton House won by 45 runs. Horton House 267-3 50 Overs (M Richardson 115*, R Turner 62, S Finch 25*; Joshua Knight 2-55, Colin Judd 1-37)

Geddington Cricket Club 2nd XI 2019 NCL Division 3 Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Joshua Knight	15	0	422	28.13	78	3	0
Lee Sutherland	14	1	373	28.69	94	2	0
Mark Thomas	17	0	356	20.94	72	2	0
Ned Wilson	18	1	338	19.88	78	2	0
Colin Judd	17	1	338	21.13	51	1	0
Sam Smith	19	6	274	21.08	47	0	0
Ben York	16	2	231	14.44	64	1	0
Marcus Knight	10	0	200	20.00	62	1	0
Ben Templeman	9	0	137	15.22	39	0	0
Cameron Braans	4	2	134	67.00	87	1	0
Cole McWilliam	13	3	90	9.00	19	0	0
Brando Biddle	6	0	72	12.00	54	1	0
Brad Harden	2	0	67	33.50	42	0	0
Harry Bolton	5	1	61	15.25	26	0	0
Jack Connelly	11	9	58	29.00	21	0	0
George York	7	0	55	7.86	28	0	0
Charlie Gingell	3	0	50	16.67	30	0	0
Lee Smith	8	4	46	11.50	17	0	0
Richard Loak	1	0	35	35.00	35	0	0
Harry Spence	1	0	29	29.00	29	0	0
Darren Garley	2	1	14	14.00	14	0	0
Paul Smith	1	0	13	13.00	13	0	0
Archie Colwill	1	0	11	11.00	11	0	0
James Schofield	1	1	11		11	0	0
Mark Pearson	3	1	9	4.50	9	0	0
Danial O'Callaghan	1	0	9	9.00	9	0	0
Andy McWilliam	1	0	0	0.00	0	0	0

Geddington Cricket Club 2nd XI 2019 NCL Division 3 Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+W
Jack Connelly	133.3	574	27	21.26	5-21	1
Colin Judd	109	419	26	16.12	4-7	0
Sam Smith	133.5	514	25	20.56	3-16	0
Lee Smith	99	273	17	16.06	3-15	0
Ben York	109.5	480	15	32.00	3-36	0
Cameron Braans	40	131	15	8.73	5-25	2
Cole McWilliam	100.3	418	14	29.86	3-16	0
Marcus Knight	65.2	234	9	26.00	2-17	0
Ned Wilson	56	206	7	29.43	2-26	0
Mark Pearson	22	124	5	24.80	3-44	0
Joshua Knight	14.2	65	5	13.00	2-5	0
Colin Griggs	8	34	1	34.00	1-34	0
Lee Sutherland	7	36	1	36.00	1-22	0
James Schofield	13	75	1	75.00	1-40	0
Harry Bolton	20	70	1	70.00	1-14	0
Archie Colwill	6	16	0		0-16	0
Caitlyn Connelly	5	27	0		0-27	0

Geddington Cricket Club 2nd XI 2019 NCL Division 3 Most Appearances:

Most Appearances:

19 Appearances
18 Appearances
17 Appearances
16 Appearances
15 Appearances
14 Appearances
13 Appearances
12 Appearances
11 Appearances
9 Appearances

Geddington Cricket Club 2nd XI 2019 NCL Division 3 Fielding Stats:

Catches:

Colin Judd 12 Catches, George York 11 Catches, Joshua Knight 9 Catches, Jack Connelly & Mark Thomas 7 Catches, Ben York & Cole McWilliam 5 Catches, Marcus Knight & Sam Smith 4 Catches, Lee Smith, Lee Sutherland, Ben Templeman, Ned Wilson & Harry Bolton 3 Catches, Mark Pearson & Darren Garley 2 Catches, Brad Harden, Charlie Gingell, James Schofield & Cameron Braans 1 Catch.

Run-Outs:

Jack Connelly, Mark Thomas & Lee Sutherland 2 Run-Outs, Sam Smith 1 Run-Out.

Stumpings:

George York 2 Stumpings, Darren Garley 1 Stumping.

Geddington Cricket Club 2nd XI 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	72	Joshua Knight-Ben Templeman	V Wellingborough Indians 1 st XI	Away	24 th August 2019
2nd	116	Mark Thomas-Ned Wilson	V Rushden & Higham Town 2 nd XI	Away	7 th September 2019
3rd	64	Mark Thomas-Lee Sutherland	V Rushden & Higham Town 2 nd XI	Home	22 nd June 2019
4th	68	Brando Biddle-Cameron Braans	V Heyford 1st XI	Home	25 th May 2019
5th	85	Brad Harden-Sam Smith	V Heyford 1st XI	Away	10 th August 2019
6th	133*	Cameron Braans-Sam Smith	V Irchester 1 st XI	Home	11 th May 2019
7th	41	Marcus Knight-Cole McWilliam	V Stony Stratford 2 nd XI	Home	17 th August 2019
8th	47	Ben York-Richard Loak	V Wollaston 2 nd XI	Home	31st August 2019
9th	50*	Ned Wilson-Jack Connelly	V Horton House 2 nd XI	Away	21st September 2019
10th	39	George York-Jack Connelly	V Irchester 1 st XI	Away	27 th July 2019

Geddington Cricket Club 2nd XI 2019 NCL Division 3 Batting & Bowling Honours Board:

		<u>50's:</u>		
Ben York	64	V Podington	(Away)	27 th April 2019.
Cameron Braans	87*	V Irchester	(Home)	11 th May 2019.
Brando Biddle	54	V Heyford	(Home)	25 th May 2019.
Mark Thomas	72	V Stony Stratford 2 nd XI	(Away)	1 st June 2019.
Lee Sutherland	55	V Rushden & Higham Town 2 nd XI	(Home)	22 nd June 2019.
Joshua Knight	73	V Oundle Town 2 nd XI	(Away)	29 th June 2019.
Joshua Knight	78	V Brixworth 2 nd XI	(Home)	3 rd August 2019.
Colin Judd	51	V Heyford	(Away)	10 th August 2019.
Marcus Knight	62	V Stony Stratford 2 nd XI	(Home)	17 th August 2019.
Joshua Knight	53	V Wellingborough Indians	(Away)	24 th August 2019.
Lee Sutherland	94*	V Rushden & Higham Town 2 nd XI	(Away)	7 th September 2019.
Mark Thomas	57	V Rushden & Higham Town 2 nd XI	(Away)	7 th September 2019.
Ned Wilson	58	V Rushden & Higham Town 2 nd XI	(Away)	7 th September 2019.
Ned Wilson	78*	V Horton House 2 nd XI	(Away)	21st September 2019.
		100's:		
		None		
		5+ Wickets:		
Cameron Braans	5-37	V Old Northamptonians 3 rd XI	(Home)	4 th May 2019.
Cameron Braans	5-25	V Irchester	(Home)	11 th May 2019.
Jack Connelly	5-21	V Horton House 2 nd XI	(Home)	6 th July 2019.
				

Geddington Cricket Club 2nd XI 2019 Match Action Shots:



Geddington Cricket Club 3rd XI 2019 Season Review:



Geddington 3rd XI 2019 Season:
Northamptonshire Cricket League Division 9: 3rd Place (Promotion to NCL Division 8)

Northamptonshire Cricket League Division 9 2019 Table:

Position	Team	Played	Points
С	Brigstock 2 nd XI	18	443
P	Great Houghton 2 nd XI	18	373
P	GEDDINGTON 3 rd XI	18	355
4	Kislingbury Temperance 2 nd XI	18	342
5	Little Harrowden	18	327
6	Kettering Town 3 rd XI	18	247
7	Wollaston 3 rd XI	18	209
R	Brixworth 3 rd XI	18	180
R	St Michaels (N)	18	154
R	Oundle Town 3 rd XI	18	67

Geddington Cricket Club 3rd XI Northamptonshire Cricket League Division 9 2019 Results:

Saturday 4th May 2019 V Kislingbury Temperance 2nd XI (Home) Match Result: Geddington won by 9 runs.

Geddington 195-6 40 Overs (Joshua Knight 67, Ben Templeman 37, David Goodjohn 29*, Dave Wood 22; D Ansell 2-31, N Reeve 2-48)

Kislingbury Temperance 186 40 Overs (S Gill 71, W Pemberton 39; Mark Pearson 7-40, Joshua Knight 2-35, Archie Colwill 1-42)

Saturday 11th May 2019 V Great Houghton 2nd XI (Home) Match Result: Great Houghton won by 40 runs.

Great Houghton 125-9 40 Overs (C Wayman 61*, R Crook 15; Joshua Knight 3-20, Mark Pearson 3-29, Benedict Harvey 2-19)

Geddington 85 27.5 Overs (Harry Spence 27, Benedict Harvey 23; C Wayman 3-4, M Sawle 3-35, A Usher 2-9)

Saturday 25th May 2019 V St Michaels (N) Home) Match Result: Geddington won by 94 runs.

Geddington 153-9 40 Overs (Ben Templeman 45, George York 22*, Harry Spence 20; G Lambert 4-24, T Marlow 3-29)

St Michaels (N) 59 23.3 Overs (G Lambert 21*; Brooklyn Biddle 5-5, Archie Colwill 2-13, Harry Spence 1-0, Stanley Kirk 1-12)

Saturday 1st June 2019 V Kettering Town 3rd XI (Away) Match Result: Geddington won by 41 runs.

Geddington 151 39.4 Overs (Brodie Biddle 42, Harry Spence 29, Mark Pearson 24; V Sharma 3-14, M Aldridge 3-30)

Kettering Town 110 30 Overs (V Sharma 38; Dave Wood 3-8, Mark Pearson 3-14, Brooklyn Biddle 3-25)

Saturday 8th June 2019 V Little Harrowden (Home) Match Result: Match Cancelled.

Saturday 15th June 2019 V Brixworth 3rd XI (Away) Match Result: Geddington won by 7 wickets.
Brixworth 49 25.2 Overs (M Farebrother 17; Mark Pearson 4-9, Archie Colwill 3-8, Dave Wood 2-9, Brooklyn Biddle 1-20)

Geddington 50-3 11.3 Overs (Ben Templeman 22, Brodie Biddle 15; F Roper 2-13, I Bhagwadin 1-28)

Saturday 22nd June 2019 V Oundle Town 3rd XI (Home) Match Result: Oundle Town Conceded.

Saturday 29th June 2019 V Brigstock 2nd XI (Away) Match Result: Geddington won by 22 runs.

Geddington 200-6 40 Overs (Brando Biddle 76, Brooklyn Biddle 33, Harry Spence 31, George York 24*; N Shiells 4-34) Brigstock 178-9 40 Overs (S Goodson 42, H Howell 36; Archie Colwill 3-27, Stanley Kirk 3-51, Dave Wood 2-35, Brando Biddle 1-38)

Saturday 6th July 2019 V Wollaston 3rd XI (Away) Match Result: Geddington won by 35 runs.

Geddington 155-9 40 Overs (Brooklyn Biddle 48, Harry Spence 17, Dave Wood 16; A Ward 2-16, N Folkes 2-37)

Wollaston 120-9 40 Overs (P Jones 22, J Cotter 17*; Brando Biddle 2-12, Archie Colwill 2-15, Stanley Kirk 2-36)

Saturday 13th July 2019 V Great Houghton 2nd XI (Away) Match Result: Great Houghton won by 43 runs.

Great Houghton 123 38.2 Overs (A Buglass 48, R Hart 17; Mark Pearson 5-19, Ben McDade 2-20, Archie Colwill 2-28)

Geddington 80 27.2 Overs (Mark Pearson 38, Brooklyn Biddle 13; M Sawle 4-20, J Skevington 3-42)

Saturday 20th July 2019 V Kislingbury Temperance 2nd XI (Away) Match Result: Kislingbury Temperance won by 4 wickets.

Geddington 146-8 40 Overs (David Goodjohn 41, Ben Templeman 40, Mark Pearson 18*; D Ansell 4-34, W Pemberton 2-19)

Kislingbury Temperance 151-6 39 Overs (M Peters 61*, A Devonshire 27*; Mark Pearson 4-32, Matt Johns 1-23, Stanley Kirk 1-38)

Saturday 27th July 2019 V St Michaels (N) (Away) Match Result: Match Cancelled.

Saturday 3rd August 2019 V Kettering Town 3rd XI (Home) Match Result: Geddington won by 10 runs.

Geddington 153 38 Overs (Matt Johns 48*, Mark Pearson 32, Brando Biddle 16; D Folgate 3-26, J Wiles 3-26) Kettering Town 143-8 40 Overs (C Wears 37, D Munn 19; Archie Colwill 2-22, Mark Pearson 1-11, Stanley Kirk 1-16)

Saturday 10th August 2019 V Little Harrowden (Away) Match Result: Little Harrowden won by 79 runs. Little Harrowden 161 38 Overs (M Roberts 51, J Tenney 36; Archie Colwill 4-14, Dave Wood 3-34, Matt Johns 2-50)

Geddington 82 30.1 Overs (David Goodjohn 28, Harry Spence 18; B Fagan 4-21, T Ray 3-12)

Saturday 17th August 2019 V Brixworth 3rd XI (Home) Match Result: Geddington won by 99 runs.

Geddington 181-8 40 Overs (Mark Pearson 82, Harry Spence 44, Harry Bolton 22; I Bhagwadin 5-22, J Knight 1-24) Brixworth 82 19.5 Overs (J Mayer 18; Stanley Kirk 3-9, Caitlyn Connelly 2-0, Archie Colwill 2-19, Mark Pearson 1-17)

Saturday 24th August 2019 V Oundle Town 3rd XI (Away) Match Result: Geddington won by 129 runs.
Geddington 193-6 40 Overs (Brando Biddle 73, Harry Spence 36, Matt Johns 19; O Radd 2-20, T Kemp 1-23)
Oundle Town 64 32.5 Overs (D Hoyland 13*; Dave Wood 3-7, Harry Spence 2-3, Matt Johns 2-5, Mark Pearson 2-8)

Saturday 31st August 2019 V Brigstock 2nd XI (Home) Match Result: Brigstock won by 7 wickets.

Geddington 94 28.5 Overs (Mark Pearson 45, Oli Cummings 14, Brando Biddle 12; G Butler 4-34, J Mills 3-9, H Howell 3-16) Brigstock 95-3 19.5 Overs (G Butler 47*, H Howell 28*; Archie Colwill 2-11, Stanley Kirk 1-30)

Saturday 7th September 2019 V Wollaston 3rd XI (Home) Match Result: Geddington won by 2 wickets.
Wollaston 154-9 40 Overs (N Folkes 29, C Boddington 18; Mark Pearson 4-32, Archie Colwill 3-33, Brando Biddle 1-11)

Geddington 155-8 39.4 Overs (Ben Templeman 52, Mark Pearson 34, David Goodjohn 26; A Monteith 3-24, N Folkes 2-37)

Geddington Cricket Club 3rd XI 2019 **NCL Division 9 Fielding Stats:**

Catches:

George York 7 Catches, Sam Garley 6 Catches, Harry Spence & Brando Biddle 5 Catches, Stanley Kirk, Dave Wood, Mark Pearson & Archie Colwill 3 Catches, Ben Templeman, Richard Loak & Brodie Biddle 2 Catches, Dilan Chotai, Joshua Knight, Paul Smith, Brooklyn Biddle, Michael Bolton, Adam Pearson, Matt Knight, James Bye & Daniel McDade 1 Catch.

Run-Outs:

Stanley Kirk & Archie Colwill 2 Run-Outs, Brando Biddle & Miles Knight 1 Run-Out.

Stumpings:

George York 3 Stumpings, David Goodjohn 1 Stumping.

Geddington Cricket Club 3rd XI 2019 NCL Division 9 Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Mark Pearson	12	1	303	27.55	82	1	0
Harry Spence	14	1	264	20.31	44	0	0
Ben Templeman	6	0	197	32.83	52	1	0
Brando Biddle	9	0	190	21.11	76	2	0
David Goodjohn	11	2	184	20.44	41	0	0
Brooklyn Biddle	6	1	110	22.00	48	0	0
Brodie Biddle	5	0	83	16.60	42	0	0
Joshua Knight	3	0	74	24.67	67	1	0
Dave Wood	6	0	73	12.17	22	0	0
Matt Johns	7	1	71	11.83	48	0	0
George York	4	2	52	26.00	24	0	0
Stanley Kirk	12	2	48	4.80	18	0	0
Archie Colwill	11	6	36	7.20	15	0	0
Harry Bolton	2	0	35	17.50	22	0	0
Akaash Baiju	2	0	23	11.50	15	0	0
Benedict Harvey	1	0	23	23.00	23	0	0
Daniel McDade	3	0	15	5.00	10	0	0
Oli Cummings	1	0	14	14.00	14	0	0
Michael Bolton	3	1	13	6.50	13	0	0
James Schofield	1	1	11		11	0	0
Darren Garley	1	0	10	10.00	10	0	0
Miles Knight	2	0	10	5.00	8	0	0
Sam Garley	6	2	9	2.25	7	0	0
Mark Toseland	1	0	9	9.00	9	0	0
James Bye	1	0	7	7.00	7	0	0
Caitlyn Connelly	1	0	7	7.00	7	0	0
Tom Spence	1	0	5	5.00	5	0	0
Paul Smith	1	1	3		3	0	0
Richard Loak	2	0	3	1.50	3	0	0
Alex Rowden	1	1	3		3	0	0
Zachary Byers	2	0	2	1.00	2	0	0
Lisa Irons	1	0	2	2.00	2	0	0
Nathan Brown	2	1	1	1.00	1	0	0
Adam Pearson	1	0	1	1.00	1	0	0
Drew Peel	1	0	0	0.00	0	0	0
Dilan Chotai	1	0	0	0.00	0	0	0
Lewis Skorupa	1	1	0		0	0	0
Ben McDade	1	0	0	0.00	0	0	0

Geddington Cricket Club 3rd XI 2019 NCL Division 9 Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Mark Pearson	84.2	241	35	6.89	7-40	2
Archie Colwill	105.1	292	26	11.23	4-14	0
Stanley Kirk	86.5	310	13	23.85	3-9	0
Dave Wood	35.1	93	13	7.15	3-7	0
Brooklyn Biddle	41	118	11	10.73	5-5	1
Matt Johns	39	145	6	24.17	2-5	0
Joshua Knight	17	69	5	13.80	3-20	0
Harry Spence	10.2	50	4	12.50	2-3	0
Brando Biddle	23	78	3	26.00	2-12	0
Benedict Harvey	7	19	2	9.50	2-19	0
Ben McDade	5	20	2	10.00	2-20	0
Caitlyn Connelly	4	15	2	7.50	2-0	0
Zachary Byers	5	14	1	14.00	1-14	0
Harry Bolton	9	44	1	44.00	1-24	0
Miles Knight	12	51	1	51.00	1-24	0
James Schofield	5	16	1	16.00	1-16	0
Drew Peel	2	13	0		0-13	0
Lewis Skorupa	4	18	0		0-18	0
Alex Rowden	2	18	0		0-18	0
Daniel McDade	5	31	0		0-4	0
Matt Knight	1.5	1	0		0-1	0

Geddington Cricket Club 3rd XI 2019 NCL Division 9 Bowling Honours Board:

		<u>5+ Wickets:</u>		
Mark Pearson	7-40	V Kislingbury Temperance 2 nd XI	(Home)	4 th May 2019.
Brooklyn Biddle	5-5	V St Michaels (N)	(Home)	25 th May 2019.
Mark Pearson	5-19	V Great Houghton 2 nd XI	(Away)	13 th July 2019.

Geddington Cricket Club 3rd XI 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	50	Ben Templeman-Brodie Biddle	V St Michaels 1 st XI	Home	25 th May 2019
2nd	94	Ben Templeman-Joshua Knight	V Kislingbury 2 nd XI	Home	4 th May 2019
		Mark Pearson-Harry Spence	V Brixworth 3 rd XI	Home	17 th August 2019
3rd	54	Brando Biddle-Dave Wood	V Oundle Town 3 rd XI	Away	24 th August 2019
4th	51	David Goodjohn-Brooklyn Biddle	V Wollaston 3 rd XI	Away	6 th July 2019
5th	35	David Goodjohn-Matt Johns	V Oundle Town 3 rd XI	Away	24 th August 2019
6th	36	Harry Spence-George York	V Brigstock 2 nd XI	Away	29 th June 2019
7th	33	Mark Pearson-Oli Cummings	V Brigstock 2 nd XI	Home	31st August 2019
8th	37	Mark Pearson-Mark Toseland	V Great Houghton 2 nd XI	Away	13 th July 2019
9th	17*	Mark Pearson-Archie Colwill	V Kislingbury 2 nd XI	Away	20 th July 2019
	17	David Goodjohn-Archie Colwill	V Little Harrowden 1st XI	Away	10 th August 2019
10th	32*	George York-Brooklyn Biddle	V St Michaels 1 st XI	Home	25 th May 2019

Geddington Cricket Club 3rd XI 2019 NCL Division 9 Most Appearances:

Most Appearances:

Harry Spence & Archie Colwill 14 Appearances 13 Appearances Mark Pearson David Goodjohn & Stanley Kirk 12 Appearances Brando Biddle 9 Appearances Matt Johns & Sam Garley 8 Appearances Dave Wood & Brooklyn Biddle 7 Appearances Ben Templeman 6 Appearances Brodie Biddle & George York 5 Appearances Joshua Knight, Daniel McDade, Michael Bolton & Richard Loak 3 Appearances

Geddington Cricket Club 3rd XI 2019 NCL Division 9 Batting Honours Board:

		<u>50's:</u>		
Joshua Knight	67	V Kislingbury Temperance 2 nd XI	(Home)	4 th May 2019.
Brando Biddle	76	V Brigstock 2 nd XI	(Away)	29 th June 2019.
Mark Pearson	82	V Brixworth 3 rd XI	(Home)	17 th August 2019.
Brando Biddle	73	V Oundle Town 3 rd XI	(Away)	24 th August 2019.
Ben Templeman	52	V Wollaston 3 rd XI	(Home)	7 th September 2019.

100's: None

Geddington Cricket Club 4th XI 2019 Season Review:



Geddington 4th XI 2019 Season:
Northamptonshire Cricket League Division 12: 3rd Place (Promotion to NCL Division 11)

Northamptonshire Cricket League Division 12 2019 Table:

Position	Team	Played	Points
С	Mears Ashby 2 nd XI	18	388
P	Kettering Town 4 th XI	18	358
P	GEDDINGTON 4 th XI	18	303
4	Bugbrooke 3 rd XI	18	302
5	Northampton Saints Grendon 4th XI	18	299
6	Old Grammarians 3 rd XI	18	273
7	Barton Seagrave 2 nd XI	18	251
R	West Haddon & Guilsborough 2 nd XI	18	223
R	S & L Corby 3 rd XI	18	208
R	Horton House 4 th XI	18	137

Geddington Cricket Club 4th XI Northamptonshire Cricket League Division 12 2019 Results:

Saturday 11th May 2019 V Old Grammarians 3rd XI (Home) Match Result: Geddington won by 18 runs.

Geddington 90-6 40 Overs (Paul Rowden 53*, Lewis Skorupa 10; D Brockwell 1-14, S Ganatra 1-14)

Old Grammarians 72 31.5 Overs (A Tomkins 17, T Abraham 15; Alex Rowden 5-16, Lewis Skorupa 1-1, Caitlyn Connelly 1-16)

Saturday 18th May 2019 V Northampton Saints Grendon 4th XI (Away) Match Result: Geddington won by 8 wickets.

Northampton Saints Grendon 73 34 Overs (R Austin 25, K Hay 10; Matt Johns 2-2, Alex Rowden 2-4, Ben McDade 2-13)

Geddington 74-2 22.2 Overs (George York 46*, Matt Johns 16; L Green 1-11, L Shelton 1-23)

Saturday 25th May 2019 V Mears Ashby 2nd XI (Home) Match Result: Mears Ashby won by 8 wickets. Geddington 101 32 Overs (Miles Knight 35, Matt Johns 12, Alex Rowden 10*; A Abbott 3-18, S Gray 2-10, D Patel 2-23)

Mears Ashby 102-2 24.3 Overs (D Patel 55*, S Gray 27; Matt Johns 2-20)

Saturday 1st June 2019 V Horton House 4th XI (Away) Match Result: Geddington won by 7 wickets. Horton House 128 37.3 Overs (J Martin 24*, V Sudhakar 15; Miles Knight 4-27, Matt Johns 3-28, Ben McDade 2-16) Geddington 131-2 24.2 Overs (Matt Johns 57, Paul Rowden 41*, Miles Knight 10*; L Orton 2-27)

Saturday 8th June 2019 V S & L Corby 3rd XI (Home) Match Result: Match Cancelled.

Saturday 15th June 2019 V Bugbrooke 3rd XI (Away) Match Result: No Result.

Bugbrooke 140-6 37.1 Overs (E Trafford 52, L Jackson 29; Caitlyn Connelly 2-25, Matt Johns 2-29, Alex Rowden 1-4) Geddington DNB

Saturday 22nd June 2019 V Barton Seagrave 2nd XI (Home) Match Result: Geddington won by 8 wickets.

Barton Seagrave 71 26.2 Overs (A Ward 23, M Adams 13; Alex Rowden 5-6, Miles Knight 3-5, Caitlyn Connelly 1-17)

Geddington 73-2 17.3 Overs (Miles Knight 29*, George York 18, Lewis Skorupa 12*; J Pringle 1-14, R Calcott 1-17)

Saturday 29th June 2019 V West Haddon & Guilsborough 2nd XI (Away) Match Result: West Haddon & Guilsborough won by 50 runs.

West Haddon & Guilsborough 144 39.3 Overs (S Tubb 36, N Button 29; Caitlyn Connelly 4-32, Drew Peel 2-15, Lewis Skorupa 2-20) Geddington 94 38 Overs (Phil Peel 35*, Sam Garley 10; E Button 3-10, S Morris-Nicholls 3-12, R Draper 2-28)

Saturday 6th July 2019 V Kettering Town 4th XI (Home) Match Result: Geddington won by 7 wickets.
Kettering Town 88 24.5 Overs (C Barton 31, I Russell 28; Matt Johns 3-12, Ben McDade 3-28, Lewis Skorupa 2-15)

Geddington 92-3 18 Overs (Matt Johns 48*, Mark Byers 20, Miles Knight 9*; I Russell 1-16, B Rae 1-23)

Saturday 13th July 2019 V Old Grammarians 3rd XI (Away) Match Result: Geddington won by 49 runs.

Geddington 135 36 Overs (Alex Rowden 26, Paul Rowden 25, Caitlyn Connelly 17; K Odell 4-21, A Jeffery 3-22) Old Grammarians 86 30.4 Overs (P Khagram 30, S Ganatra 15; Alex Rowden 5-23, Matt Johns 4-22, Caitlyn Connelly 1-17)

Saturday 20th July 2019 V Northampton Saints & Grendon 4th XI (Home) Match Result: Match Cancelled.

Saturday 27th July 2019 V Mears Ashby 2nd XI (Away) Match Result: Mears Ashby won by 2 runs.

Mears Ashby 108 26 Overs (D Patel 21, C Green 20; Matt Johns 4-24, Ben McDade 2-21, Miles Knight 2-31, Caitlyn Connelly 1-29)

Geddington 106 25.3 Overs (Miles Knight 57, Adam Pearson 12; C Green 7-34, D Patel 2-20, S Gray 1-22)

Saturday 10th August 2019 V S & L Corby 3rd XI (Away) Match Result: S & L Corby won by 44 runs.

S & L Corby 95 34.1 Overs (P Bisht 23, K Singh 22; Ben McDade 3-10, Phil Peel 3-28, Hanna McDade 2-28)

Geddington 51 25.2 Overs (Steve Toseland 11, Ben McDade 9; J Scott 3-6, J Miller 2-10, K Singh 2-15)

Saturday 17th August 2019 V Bugbrooke 3rd XI (Home) Match Result: Match Cancelled.

Saturday 24th August 2019 V Barton Seagrave 2nd XI (Away) Match Result: Geddington won by 7 wickets.
Barton Seagrave 74 24.5 Overs (G Adusumilli 14, J Perkins 11; Alex Rowden 3-16, Caitlyn Connelly 3-17, Drew Peel 3-24)

Geddington 79-3 17 Overs (Daniel McDade 25*, Paul Rowden 18, Adam Pearson 17; N Spriggs 1-1, J Perkins 1-20)

Saturday 31st August 2019 V West Haddon & Guilsborough 2nd XI (Home) Match Result: Geddington won by 6 wickets.

West Haddon & Guilsborough 105 39.4 Overs (S Tubb 38, S Roffe 17; Lewis Skorupa 5-22, Alex Rowden 2-12, Ben McDade 1-14)

Geddington 106-4 31.4 Overs (Paul Rowden 41*, Ben McDade 25, Daniel McDade 19*; J Roffe 2-35, N Balliston 1-18)

Saturday 7th September 2019 V Kettering Town 4th XI (Away) Match Result: Kettering Town won by 188 runs.

Kettering Town 225-7 40 Overs (D Judd 83, C Barton 55, P Coward 31; Ben McDade 3-32, Caitlyn Connelly 2-53, Phil Peel 1-45)

Geddington 37 20.3 Overs (Daniel McDade 7, Adam Pearson 6'; B Rae 4-11, T Storey 3-12, C Barton 2-8)

Saturday 14th September 2019 V Horton House 4th XI (Home) Match Result: Geddington won by 8 wickets. Horton House 49 31.3 Overs (L Orton 19; Ben McDade 3-13, Alex Rowden 2-2, Matt Johns 1-2, Lewis Skorupa 1-6)

Geddington 52-2 6.1 Overs (Matt Johns 21*, Daniel McDade 18, Miles Knight 10; H Cooke 2-32)

Geddington Cricket Club 4th XI 2019 **NCL Division 12 Fielding Stats:**

Catches:

Ben McDade 10 Catches, Caitlyn Connelly, Paul Rowden & Adam Pearson 7 Catches, Alex Rowden 5 Catches, Drew Peel 4 Catches, Daniel McDade, Miles Knight & Matt Johns 2 Catches, Zachary Byers, Richard Spence, Dilan Chotai, Lewis Skorupa, Lisa Irons, George York, Phil Peel & Mark Byers 1 Catch.

Run-Outs:

Lewis Skorupa & Drew Peel 3 Run-Outs.

Stumpings:

Adam Pearson 1 Stumping.

Geddington Cricket Club 4th XI 2019 NCL Division 12 Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Paul Rowden	9	3	182	30.33	53	1	0
Matt Johns	7	2	180	36.00	57	1	0
Miles Knight	8	3	151	30.20	57	1	0
Daniel McDade	9	2	79	11.29	25	0	0
Alex Rowden	7	1	67	11.17	26	0	0
George York	2	1	64	64.00	46	0	0
Phil Peel	7	1	55	9.17	35	0	0
Adam Pearson	6	1	44	8.80	17	0	0
Ben McDade	8	3	43	8.60	25	0	0
Caitlyn Connelly	6	2	34	8.50	17	0	0
Mark Byers	2	0	31	15.50	20	0	0
Lewis Skorupa	5	1	23	5.75	12	0	0
Connor Napier	3	0	19	6.33	9	0	0
Richard Spence	3	0	18	6.00	12	0	0
Sam Garley	4	0	13	3.25	10	0	0
Steve Toseland	1	0	11	11.00	11	0	0
Zachary Byers	2	0	10	5.00	6	0	0
Samuel Linnett	1	0	6	6.00	6	0	0
Brodie Biddle	1	0	6	6.00	6	0	0
Hanna McDade	3	0	5	1.67	4	0	0
Drew Peel	6	2	3	0.75	2	0	0
Dilan Chotai	2	0	1	0.50	1	0	0
Lisa Irons	1	0	0	0.00	0	0	0
Robert Brine	1	0	0	0.00	0	0	0

Geddington Cricket Club 4th XI 2019 NCL Division 12 Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Alex Rowden	55.3	139	25	5.56	5-6	3
Ben McDade	99.1	257	22	11.69	3-10	0
Matt Johns	61.3	139	21	6.62	4-22	0
Caitlyn Connelly	99.5	325	20	16.25	4-32	0
Lewis Skorupa	37.3	135	15	9.00	5-22	1
Miles Knight	56	185	12	15.42	4-27	0
Drew Peel	12	53	5	10.60	3-24	0
Phil Peel	26	94	4	23.50	3-28	0
Hanna McDade	12	53	2	26.50	2-28	0
Richard Spence	19	65	1	65.00	1-17	0
Daniel McDade	4	11	0		0-11	0

Geddington Cricket Club 4th XI 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	105	Paul Rowden-Matt Johns	V Horton House 4 th XI	Away	1 st June 2019
2nd	30	Paul Rowden-Lewis Skorupa	V Old Grammarians 3 rd XI	Home	11 th May 2019
3rd	46*	Lewis Skorupa-Miles Knight	V Barton Seagrave 2 nd XI	Home	22 nd June 2019
	46	Matt Johns-Mark Byers	V Kettering Town 4 th XI	Home	6 th July 2019
4th	19*	Matt Johns-Miles Knight	V Kettering Town 4 th XI	Home	6 th July 2019
5th	55*	Paul Rowden-Daniel McDade	V West Haddon & Guilsborough 2 nd XI	Home	31st August 2019
6th	28	Sam Garley-Phil Peel	V West Haddon & Guilsborough 2 nd XI	Away	29 th June 2019
7th	48	Alex Rowden-Caitlyn Connelly	V Old Grammarians 3 rd XI	Away	13 th July 2019
8th	4	Caitlyn Connelly-Phil Peel	V Kettering Town 4 th XI	Away	7 th September 2019
9th	16	Phil Peel-Caitlyn Connelly	V West Haddon & Guilsborough 2 nd XI	Away	29 th June 2019
10th	16	Phil Peel-Richard Spence	V West Haddon & Guilsborough 2 nd XI	Away	29 th June 2019

Geddington Cricket Club 4th XI 2019 NCL Division 12 Most Appearances:

Most Appearances:

<u>Most Appear ances.</u>	
Ben McDade & Caitlyn Connelly	14 Appearances
Phil Peel	13 Appearances
Alex Rowden & Drew Peel	12 Appearances
Paul Rowden, Miles Knight, Daniel McDade, Lewis Skorupa & Richard Spence	10 Appearances
Matt Johns	8 Appearances
Adam Pearson	7 Appearances
Sam Garley	6 Appearances

Geddington Cricket Club 4th XI 2019 NCL Division 12 Batting & Bowling Honours Board:

50's:

Paul Rowden	53*	V Old Grammarians 3 rd XI	(Home)	11 th May 2019.
Matt Johns	57	V Horton House 4 th XI	(Away)	1 st June 2019.
Miles Knight	57	V Mears Ashby 2 nd XI	(Away)	27 th July 2019.
		100's: None		
		5+ Wickets:		
Alex Rowden	5-16	V Old Grammarians 3 rd XI	(Home)	11 th May 2019.
Alex Rowden	5-6	V Barton Seagrave 2 nd XI	(Home)	22 nd June 2019.
Alex Rowden	5-23	V Old Grammarians 3 rd XI	(Away)	13 th July 2019.
Lewis Skorupa	5-22	V West Haddon & Guilsborough 2 nd XI	(Home)	31 st August 2019.



Picture: Geddington 4th Team after victory in their final game of the season against Horton House 4th Team to claim promotion to the Northamptonshire Cricket League Division 11 for 2020 season.

Geddington Cricket Club Sunday Team 2019 Season Review:



Picture Left: Benedict Harvey batting during his century innings for Geddington Sunday XI against Rushden Wanderers Sunday XI at Geddington Cricket Club.

Picture Right: Lewis Skorupa bowling for Geddington Sunday XI against Old Grammarians Sunday XI at Old Grammarians Cricket Club.

Geddington Cricket Club Sunday XI Friendly 2019 Results:

Sunday 28th April 2019 V Northampton Saints Sunday XI (Away) Match Result: Geddington won by 164 runs. Geddington 292-2 40 Overs (Benedict Harvey 52*, Joshua Knight 51*, Cole McWilliam 50*, Brodie Biddle 50*, Ned Wilson 50*) Northampton Saints 128 33.2 Overs (E Hughes-Rowlands 34, P Austin 22; Matt Johns 3-9, Harry Spence 3-18, Ben Templeman 2-35)

Sunday 5th May 2019 V Old Grammarians Sunday XI (Home) Match Result: Geddington won by 1 run. Geddington 194-5 40 Overs (Brooklyn Biddle 53*, Cole McWilliam 35, Ben York 24; A Jeffery 3-29, J Gilbey 1-11) Old Grammarians 193-6 40 Overs (T Richards 52*, T Abraham 52*, D Austin 50*; Cole McWilliam 2-17, Alex Rowden 1-10)

Sunday 12th May 2019 V Rushden Wanderers Sunday XI (Home) Match Result: Geddington won by 21 runs. Geddington 243-3 40 Overs (Benedict Harvey 101*, Ben Templeman 52, Ned Wilson 36; J York 1-39)
Rushden Wanderers 222-8 40 Overs (T Cooper 85, L Coles 47; Ben York 3-38, Archie Colwill 1-14, Ned Wilson 1-28)

Sunday 19th May 2019 V Burton Latimer Sunday XI (Away) Match Result: Geddington won by 90 runs. Geddington 193-3 30 Overs (Ned Wilson 52*, Benedict Harvey 50*, Zachary Byers 22*; D Bird 2-48, B Boyle 1-38) Burton Latimer 103 29.1 Overs (M Stock 34, B Boyle 18; Drew Peel 3-17, Ben McDade 3-26, Archie Colwill 2-11)

Sunday 26th May 2019 V Harborough South Sunday XI (Home) Match Result: Harborough South won by 3 wickets. Geddington 188 38.2 Overs (Joshua Knight 50, Ben Templeman 32, Harry Spence 21; N Lovegrove 5-28, M Goode 2-46) Harborough South 190-7 31.3 Overs (M Moody 76*, P Burrows 35; Joshua Knight 2-12, Jayden Hamdi 2-17, Ben McDade 1-18)

Sunday 2nd June 2019 V Old Eastonians Sunday XI (Home) Match Result: Geddington won by 20 runs.
Geddington 241-5 40 Overs (Joshua Knight 52*, Benedict Harvey 51*, Ben York 42, Ned Wilson 27; D Diciccio 1-18, T Diciccio 1-25)
Old Eastonians 221 36.5 Overs (M Levine 119, G Chambers 33; Joshua Knight 3-2, Hanna McDade 2-13, Ben York 2-34)

Sunday 9th June 2019 V Braybrooke Sunday XI (Home) Match Result: Braybrooke won by 17 runs.

Braybrooke 142 31 Overs (R King 76*, C Handy 16; Stanley Kirk 4-14, Lewis Skorupa 2-4, Hanna McDade 2-11, Ben McDade 2-20)

Geddington 125 21.4 Overs (Joshua Knight 55, Harry Spence 27, Zachary Byers 11; S Handy 5-21, C Bradley 4-28)

Sunday 23rd June 2019 V Old Grammarians Sunday XI (Away) Match Result: Geddington won by 58 runs.. Geddington 207-4 40 Overs (Ned Wilson 50*, Brooklyn Biddle 50*, David Goodjohn 29, Joshua Knight 23*; J Gilbey 2-27) Old Grammarians 149 35.5 Overs (V Mazumdar 58*, T Abraham 18; Ned Wilson 2-6, Joshua Knight 2-22, Hanna McDade 2-24)

Sunday 30th June 2019 V Wansford Sunday XI (Home) Match Result: Geddington won by 8 wickets. Wansford 101-9 20 Overs (S Taylor 31, L Millbank 13*; Mark Pearson 3-10, Hanna McDade 2-14, Lewis Skorupa 2-27) Geddington 102-2 9.3 Overs (Joshua Knight 50*, Benedict Harvey 32, Ned Wilson 13*; J Stafford 1-27, V Prabh 1-28)

Sunday 30th June 2019 V Rushden Wanderers Sunday XI (Home) Match Result: Rushden Wanderers won by 9 runs. Rushden Wanderers 169-7 20 Overs (A Houlden 65*, H Steele 43; Joshua Knight 2-40, Hanna McDade 1-18, Ned Wilson 1-21) Geddington 160-4 20 Overs (Benedict Harvey 88*, Ben McDade 25, Cole McWilliam 16*; B Paull 1-9, A Houlden 1-18)

Geddington Cricket Club Sunday XI Friendly 2019 Results Continued:

Sunday 21st July 2019 V Old Eastonians Sunday XI (Away) Match Result: Geddington won by 86 runs.

Geddington 183-6 40 Overs (Brooklyn Biddle 50*, Ned Wilson 44, Joshua Knight 29; D Diciccio 2-28, M White 2-36)

Old Eastonians 97 28.5 Overs (J Vickers 30*, J Parry 30; Ben McDade 3-2, Ned Wilson 2-7, Joshua Knight 1-3, Daniel McDade 1-12)

Sunday 4th August 2019 V Old Grammarians Sunday XI (Home) Match Result: Geddington won by 37 runs. Geddington 245-2 40 Overs (Adam Pearson 52*, Joshua Knight 51*, Ben York 51*, Benedict Harvey 30*; V Muzumdar 1-30) Old Grammarians 208-8 40 Overs (T Abraham 52*, N Joshi 33; Joshua Knight 3-10, Ben York 1-18, Ben McDade 1-22)

Sunday 11th August 2019 V Braybrooke Sunday XI (Home) Match Result: No Result. Braybrooke 12-0 3.1 Overs (C Handy 7*, H Hackett 3*) Geddington DNB.

Sunday 18th August 2019 V Open University Sunday XI (Home) Match Result: Geddington won by 6 runs. Geddington 216 39.1 Overs (Joshua Knight 71, Brooklyn Biddle 41, Ben McDade 23, Ned Wilson 18) Open University 210 39.1 Overs (N Nagra 48, G Singh 42; Lewis Skorupa 2-38, Hanna McDade 1-5, Henry Brandrick 1-18)

Sunday 25th August 2019 V Harborough South Sunday XI (Away) Match Result: Harborough South won by 5 wickets. Geddington 149-8 40 Overs (Daniel McDade 50*, Ned Wilson 45, Ben McDade 15; J Pickering 2-14, R Nibbs 1-16) Harborough South 150-5 26.5 Overs (J Pickering 70*, M Moody 26*; Hanna McDade 2-12, Jayden Hamdi 1-9, Ben McDade 1-26)

Geddington Cricket Club Sunday XI 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	208	Ned Wilson-Benedict Harvey- Cole McWilliam-Joshua Knight- Ben Templeman	V Northampton Saints Sunday XI	Away	28 th April 2019
2nd	88	Benedict Harvey-Joshua Knight- Cole McWilliam	V Old Eastonians Sunday XI	Home	2 nd June 2019
3rd	203*	Adam Pearson-Joshua Knight- Benedict Harvey-Ben York- Brooklyn Biddle-Ben McDade	V Old Grammarians Sunday XI	Home	4 th August 2019
4th	74	Brooklyn Biddle-David Goodjohn-Joshua Knight	V Old Grammarians Sunday XI	Away	23 rd June 2019
5th	72	Brooklyn Biddle-Ben York-Dilan Chotai	V Old Grammarians Sunday XI	Home	5 th May 2019
6th	26	Daniel McDade-Kieran Hamdi	V Harborough South Sunday XI	Away	25 th August 2019
7th	31	Daniel McDade-Ben McDade	V Harborough South Sunday XI	Away	25 th August 2019
8th	28	Daniel McDade-Hanna McDade	V Harborough South Sunday XI	Away	25 th August 2019
9th	20	Sam Garley-Hanna McDade	V Harborough South Sunday XI	Home	26 th May 2019
10th	23	Ben McDade-Jayden Hamdi	V Open University Sunday XI	Home	18 th August 2019



Picture:

Daniel McDade batting during his unbeaten innings of 50 for Geddington Sunday XI against Harborough South Sunday XI at Harborough South Cricket Club.

Geddington Cricket Club Sunday XI 2019 Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Joshua Knight	11	5	439	73.17	71	7	0
Benedict Harvey	8	6	424	212.00	101	4	1
Ned Wilson	11	4	375	53.57	52	3	0
Brooklyn Biddle	9	5	255	63.75	53	3	0
Ben York	5	1	134	33.50	51	1	0
Cole McWilliam	5	2	126	42.00	50	1	0
Ben Templeman	5	0	106	21.20	52	1	0
Ben McDade	9	3	82	13.67	25	0	0
Daniel McDade	10	1	81	9.00	50	1	0
Harry Spence	4	0	63	15.75	27	0	0
Adam Pearson	1	1	52		52	1	0
Brodie Biddle	1	1	50		50	1	0
Archie Colwill	3	2	42	42.00	23	0	0
Hanna McDade	5	1	38	9.50	16	0	0
Zachary Byers	2	1	35	35.00	22	0	0
David Goodjohn	2	0	35	17.50	29	0	0
Sam Garley	3	1	26	13.00	14	0	0
Kieran Hamdi	5	1	22	5.50	7	0	0
George York	1	1	17		17	0	0
Dilan Chotai	1	1	14		14	0	0
Lewis Skorupa	5	1	14	3.50	9	0	0
Harry Bolton	1	0	10	10.00	10	0	0
Alex Rowden	2	1	5	5.00	5	0	0
Jayden Hamdi	3	2	5	5.00	4	0	0
Mark Pearson	1	1	4		4	0	0
Stanley Kirk	1	0	3	3.00	3	0	0
Henry Brandrick	4	2	1	0.50	1	0	0

Geddington Cricket Club Sunday XI 2019 Batting Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Ben McDade	55.1	229	13	17.62	3-2	0
Hanna McDade	39	159	13	12.23	2-11	0
Joshua Knight	26	115	13	8.85	3-2	0
Lewis Skorupa	46	213	11	19.36	2-4	0
Ned Wilson	37.5	139	8	17.38	2-6	0
Archie Colwill	32	111	8	13.88	2-11	0
Ben York	26.5	129	7	18.43	3-38	0
Cole McWilliam	17.1	88	5	17.60	2-17	0
Harry Spence	12	60	4	15.00	3-18	0
Jayden Hamdi	21.3	113	4	28.25	2-17	0
Mark Pearson	8	32	4	8.00	3-10	0
Stanley Kirk	5	14	4	3.50	4-14	0
Drew Peel	5.1	17	3	5.67	3-17	0
Henry Brandrick	43	297	3	99.00	1-18	0
Matt Johns	5	9	3	3.00	3-9	0
Brooklyn Biddle	20	149	2	74.50	1-22	0
Ben Templeman	5	35	2	17.50	2-35	0
Daniel McDade	26	131	2	65.50	1-12	0
Alex Rowden	7	35	1	35.00	1-10	0
Dilan Chotai	3	22	0		0-22	0
Kieran Hamdi	8	28	0		0-4	0
George York	3	16	0		0-16	0
Benedict Harvey	4	13	0		0-13	0

Geddington Cricket Club Sunday XI 2019 Fielding Stats:

Catches:

Joshua Knight 8 Catches, Brooklyn Biddle 4 Catches, Benedict Harvey, Ben McDade, Hanna McDade, George York & Ben York 3 Catches, Daniel McDade, David Goodjohn, Stanley Kirk, Ben Templeman, Ned Wilson, Harry Bolton & Lewis Skorupa 2 Catches, Archie Colwill, Kieran Hamdi, Cole McWilliam, Alex Rowden, Henry Brandrick & Harry Spence 1 Catch.

Run-Outs:

Ned Wilson 3 Run-Outs, Brooklyn Biddle, Ben York, Kieran Hamdi & Mark Pearson 1 Run-Out.

Stumpings:

David Goodjohn & Sam Garley 1 Stumping.

Geddington Cricket Club Sunday XI 2019 Most Appearances:

Most A	ppearances:
--------	-------------

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Ben McDade	14 Appearances
Daniel McDade	13 Appearances
Ned Wilson	12 Appearances
Joshua Knight, Brooklyn Biddle, Hanna McDade, Lewis Skorupa & Henry Brandrick	11 Appearances
Benedict Harvey	10 Appearances
David Goodjohn	9 Appearances
Archie Colwill	8 Appearances
Ben York, Kieran Hamdi & Jayden Hamdi	7 Appearances
Cole McWilliam & Ben Templeman	6 Appearances

Geddington Cricket Club Sunday XI 2019 Batting & Bowling Honours Board:

		<u>50's:</u>		
Ned Wilson	50	V Northampton Saints Sunday XI	(Away)	28 th April 2019.
Benedict Harvey	52	V Northampton Saints Sunday XI	(Away)	28 th April 2019.
Cole McWilliam	50	V Northampton Saints Sunday XI	(Away)	28 th April 2019.
Joshua Knight	51	V Northampton Saints Sunday XI	(Away)	28 th April 2019.
Brodie Biddle	50	V Northampton Saints Sunday XI	(Away)	28 th April 2019.
Brooklyn Biddle	53	V Old Grammarians Sunday XI	(Home)	5 th May 2019.
Ben Templeman	52	V Rushden Wanderers Sunday XI	(Home)	12 th May 2019.
Ned Wilson	52	V Burton Latimer Sunday XI	(Away)	19 th May 2019.
Benedict Harvey	50	V Burton Latimer Sunday XI	(Away)	19 th May 2019.
Joshua Knight	50	V Harborough South Sunday XI	(Home)	26 th May 2019.
Benedict Harvey	51	V Old Eastonians Sunday XI	(Home)	2 nd June 2019.
Joshua Knight	52	V Old Eastonians Sunday XI	(Home)	2 nd June 2019.
Joshua Knight	55	V Braybrooke Sunday XI	(Home)	9 th June 2019.
Ned Wilson	50	V Old Grammarians Sunday XI	(Away)	23 rd June 2019.
Brooklyn Biddle	50	V Old Grammarians Sunday XI	(Away)	23 rd June 2019.
Joshua Knight	50	V Wansford Sunday XI	(Home)	30 th June 2019.
Benedict Harvey	88*	V Rushden Wanderers Sunday XI	(Home)	30 th June 2019.
Brooklyn Biddle	50	V Old Eastonians Sunday XI	(Away)	21st July 2019.
Adam Pearson	52	V Old Grammarians Sunday XI	(Home)	4 th August 2019.
Joshua Knight	51	V Old Grammarians Sunday XI	(Home)	4 th August 2019.
Ben York	51	V Old Grammarians Sunday XI	(Home)	4 th August 2019.
Joshua Knight	71	V Open University Sunday XI	(Home)	18 th August 2019.
Daniel McDade	50*	V Harborough South Sunday XI	(Away)	25 th August 2019.
		100's:		
Benedict Harvey	101*	V Rushden Wanderers Sunday XI	(Home)	12 th May 2019.

5+ Wickets:

None

Geddington Cricket Club Sunday XI 2019 Match Action Shots:



Pictures: Cole McWilliam & Brodie Biddle V Northampton Saints Sunday XI at Northampton Saints Cricket Club.

Geddington Cricket Club Sunday XI 2019 Match Action Shots Part 2:



Pictures: George York & Matt Johns V Northampton Saints Sunday XI at Northampton Saints Cricket Club, Daniel McDade, Brooklyn Biddle & Alex Rowden V Old Grammarians Sunday XI at Geddington Cricket Club, Benedict Harvey & Archie Colwill V Rushden Wanderers Sunday XI at Geddington Cricket Club.

Geddington Cricket Club Sunday XI 2019 Match Action Shots Part 3:



Pictures: Ned Wilson & Drew Peel V Burton Latimer Sunday XI at Burton Latimer Cricket Club, Sam Garley & Henry Brandrick V Harborough South Sunday XI at Geddington Cricket Club, Joshua Knight & Ben York V Old Eastonians Sunday XI at Geddington Cricket Club, Harry Spence & David Goodjohn V Old Grammarians Sunday XI at Old Grammarians Cricket Club.

Geddington Cricket Club Sunday XI 2019 Match Action Shots Part 4:



Pictures: Ben McDade V Old Grammarians Sunday XI at Old Grammarians Cricket Club, Mark Pearson, Cole McWilliam, Benedict Harvey & Joshua Knight V Wansford Sunday XI at Geddington Cricket Club, Lewis Skorupa, Hanna McDade & Ned Wilson V Rushden Wanderers Sunday XI at Geddington Cricket Club.

Geddington Cricket Club Sunday XI 2019 Match Action Shots Part 5:



Pictures: Ben McDade V Rushden Wanderers Sunday XI at Geddington Cricket Club, Ned Wilson, Brooklyn Biddle, David Goodjohn, Hanna McDade, Joshua Knight & Daniel McDade V Open University Sunday XI at Geddington Cricket Club, Ben Templeman V Harborough South Sunday XI at Harborough South Cricket Club.

Geddington Cricket Club Ladies Team 2019 Season Review:



Geddington Ladies Team 2019 Season:

Northamptonshire Last Woman Stands League: 6th Place Northamptonshire Last Woman Stands Plate: Semi-Final

Northamptonshire Last Woman Stands League 2019 Table:

Position	Team	Played	Points	
1	Bowden Pinks	14	120	
2	Thrapston Yellows	14	99	
3	Irthlingborough Town Ladies	14	96	
4	West Haddon Hombres	14	93	
5	Thrapston Blues	14	90	
6	GEDDINGTON Ladies	14	74	
7	Brixworth Ladies	14	71	
8	Burton Latimer Ladies	14	53	

Geddington Cricket Club Ladies Team Northamptonshire Last Woman Stands 2019 Results:

Wednesday 1st May 2019 V Thrapston Blues (Away) Match Result: Match Cancelled.

Wednesday 8th May 2019 V West Haddon Hombres (Home) Match Result: Match Cancelled.

Wednesday 15th May 2019 V Bowden Pinks (Home) Match Result: Bowden Pinks won by 93 runs. Bowden Pinks 180-1 20 Overs (S Pyne 54*, F England 52*, V Earland 32; Poppy Gibson 1-32) Geddington 87-4 20 Overs (Poppy Gibson 50*, Hanna McDade 15*; C Wale 2-8, F England 1-7)

Wednesday 22nd May 2019 V Brixworth Ladies (Home) Match Result: Brixworth Ladies won by 6 runs.

Brixworth 80-3 20 Overs (M Harte 29, G Rowley 21; Hanna McDade 1-5, Molly Luthayi 1-10, Amelia Byers 1-11)

Geddington 74-7 20 Overs (Amelia Byers 25, Molly Luthayi 15, Vikki Smith 11; J Simons 2-9, J Wright 2-15)

Wednesday 29th May 2019 V Thrapston Yellows (Away) Match Result: Match Cancelled.

Wednesday 5th June 2019 V Burton Latimer Ladies (Away) Match Result: Geddington won by 8 wickets. Burton Latimer 69-6 20 Overs (G Lovegrove 23*, A Jolley 18; Millie Webb 2-17, Poppy Gibson 1-2, Hanna McDade 1-4) Geddington 72-0 8.4 Overs (Amelia Byers 40*, Poppy Gibson 32*)

Wednesday 12th June 2019 V Irthlingborough Ladies (Home) Match Result: Match Cancelled.

Wednesday 19th June 2019 V Thrapston Blues (Home) Match Result: Thrapston Blues won by 7 wickets.

Geddington 77-5 20 Overs (Fay Robinson 52*, Amelia Byers 11, Hanna McDade 9; C Nicholls 2-6, E Brown 1-8) Thrapston Blues 80-1 11.2 Overs (B Pike 32*, K Brown 25, C Nicholls 23*; Molly Luthayi 1-17)

Wednesday 26th June 2019 V West Haddon Hombres (Away) Match Result: West Haddon Hombres won by 2 wickets.

Geddington 53-8 13.3 Overs (Amelia Byers 14, Fay Robinson 12, Millie Webb 11; T Houghton 3-8, J Naylor 2-2)

West Haddon Hombres 55-6 12.4 Overs (T Houghton 20, D Steel 17*; Hanna McDade 4-6, Fay Robinson 1-3, Molly Luthayi 1-16)

Wednesday 3rd July 2019 V Bowden Pinks (Away) Match Result: Bowden Pinks won by 7 wickets.

Geddington 61-7 20 Overs (Millie Webb 19, Ellie Rowden 17, Lisa Irons 7*; C Wale 2-6, G King 2-10)

Bowden Pinks 65-1 9.1 Overs (L Kirk 31, E Page 19*, F England 13*; Poppy Gibson 1-9)

Wednesday 10th July 2019 V Brixworth Ladies (Away) Match Result: Geddington won by 4 runs.

Geddington 109-5 20 Overs (Fay Robinson 49, Amelia Byers 24, Molly Luthayi 18; J Simons 1-21, A Jennings 1-23)

Brixworth 105-5 20 Overs (C Dow 48, M Harte 28; Amelia Byers 2-20, Millie Webb 1-15, Hanna McDade 1-16)

Wednesday 17th July 2019 V Thrapston Yellows (Home) Match Result: Thrapston Yellows won by 7 wickets.

Geddington 117-1 20 Overs (Hanna McDade 51*, Iris Kirk 50*, Maisie Peel 7*; C Bettles 1-20)

Thrapston Yellows 118-1 16 Overs (H Pack 50*, A Pike 38*, B Pike 17*; Hanna McDade 1-16)

Wednesday 24th July 2019 V Burton Latimer Ladies (Home) Match Result: Geddington won by 44 runs.

Geddington 122-4 20 Overs (Poppy Gibson 51*, Hanna McDade 39*, Fay Robinson 15; B Dickens 3-10, E Cole 1-22)

Burton Latimer 78-5 20 Overs (A Ridgeway 36, B Dickens 22; Hanna McDade 5-15)

Wednesday 31st July 2019 V Irthlingborough Ladies (Away) Match Result: Irthlingborough Ladies won by 7 wickets.

Geddington 71-3 20 Overs (Iris Kirk 32, Ellie Rowden 13*, Lisa Irons 11*; T Abbott 2-12, G White 1-10)

Irthlingborough 72-1 10 Overs (B Nunley 39*, G White 28; Iris Kirk 1-21)

Northamptonshire Last Woman Stands Plate Competition:

Semi-Final:

Wednesday 7th August 2019 V Brixworth Ladies (Home) Match Result: Brixworth Ladies won by 28 runs. Brixworth 140-4 20 Overs (A Jennings 51*, M Harte 46, S Blason 23*; Millie Webb 2-21, Hanna McDade 1-15)

Geddington 112-6 20 Overs (Hanna McDade 54*, Millie Webb 30; B Coulton 2-24, M Harte 1-10, Anna Jennings 1-22)

Geddington Cricket Club Ladies 2019 Northamptonshire Last Woman Stands Fielding Stats:

Catches:

Amelia Byers, Lisa Irons & Millie Webb 2 Catches, Poppy Gibson, Fay Robinson & Molly Luthayi 1 Catch.

Run-Outs:

Millie Webb & Fay Robinson 1 Run-Out.

Stumpings:

None



Picture:

Fay Robinson batting during her unbeaten innings of 52 for Geddington Ladies against Thrapston Blues at Geddington Cricket Club.

Geddington Cricket Club Ladies Team 2019 Northamptonshire Last Woman Stands Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's
Hanna McDade	9	4	182	36.40	54	2
Poppy Gibson	4	3	136	136.00	51	2
Fay Robinson	4	1	128	42.67	52	1
Amelia Byers	8	1	124	17.71	40	0
Iris Kirk	4	1	94	31.33	50	1
Millie Webb	5	0	60	12.00	30	0
Molly Luthayi	7	3	44	11.00	18	0
Ellie Rowden	6	3	43	14.33	17	0
Vikki Smith	8	3	34	6.80	11	0
Lisa Irons	7	2	29	5.80	11	0
Becky Wykes	2	0	14	7.00	9	0
Maisie Peel	3	1	10	5.00	7	0
Ruth Webb	1	1	8		8	0
Harriet Askew	1	0	5	5.00	5	0
Tiff Scriven	2	0	4	2.00	2	0
Tracey Watson	1	0	3	3.00	3	0
Sarah Treanor	1	0	0	0.00	0	0

Geddington Cricket Club Ladies Team 2019 Northamptonshire Last Woman Stands Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Hanna McDade	34	127	14	9.07	5-15	1
Millie Webb	21	100	5	20.00	2-17	0
Poppy Gibson	11.1	51	3	17.00	1-2	0
Amelia Byers	21	135	3	45.00	2-20	0
Molly Luthayi	17.2	121	3	40.33	1-10	0
Iris Kirk	14	77	1	77.00	1-21	0
Fay Robinson	11	27	1	27.00	1-3	0
Harriet Askew	7	26	1	26.00	1-10	0
Tiff Scriven	9	79	1	79.00	1-11	0
Becky Wykes	1	12	0		0-12	0
Vikki Smith	12.4	100	0		0-7	0
Maisie Peel	11	68	0		0-21	0
Tracey Watson	4	38	0		0-38	0
Ellie Rowden	5	49	0		0-7	0

Geddington Cricket Club Ladies Team 2019 Northamptonshire Last Woman Stands Batting & Bowling Honours Board:

		<u>50's:</u>		
Poppy Gibson	50	V Bowden Pinks	(Home)	15 th May 2019.
Fay Robinson	52	V Thrapston Blues	(Home)	19 th June 2019.
Iris Kirk	50	V Thrapston Yellows	(Home)	17 th July 2019.
Hanna McDade	51	V Thrapston Yellows	(Home)	17 th July 2019.
Poppy Gibson	51	V Burton Latimer Ladies	(Home)	24 th July 2019.
Hanna McDade	54*	V Brixworth Ladies	(Home)	7 th August 2019.
		5+ Wickets	<u>s:</u>	
Hanna McDade	5-15	V Burton Latimer Ladies	(Home)	24 th July 2019.

Geddington Cricket Club Ladies Team 2019 Match Action Shots:



Pictures: Fay Robinson, Tiff Scriven, Hanna McDade, Molly Luthayi, Amelia Byers & Fay Robinson V Thrapston Blues Ladies at Geddington Cricket Club.

Geddington Cricket Club Ladies V Burton Latimer Ladies 5th July 2019 Match Action Shots:



Pictures: Geddington Ladies V Burton Latimer Ladies at Geddington Cricket Club Match Pictures on Friday 5th July 2019, during the Geddington Cricket Club Beer Festival Weekend.

Geddington Cricket Club Ladies V Burton Latimer Ladies Beer Festival Weekend's Team Photos:



Picture: Geddington Ladies & Burton Latimer Ladies Team Photo on Friday 5th July at Geddington Cricket Club, as part of the Geddington Cricket Club Beer Festival Weekend.



Picture: Geddington Ladies & Burton Latimer Ladies Team Photo on Friday 23rd August at Burton Latimer Cricket Club, as part of the Burton Latimer Cricket Club Beer Festival Weekend.

Geddington Cricket Club Under-17's 2019 Season Review:



Picture Left: Joshua Knight batting for Geddington Under-17's against Thrapston Under-17's at Thrapston Cricket Club. **Picture Right:** Ben York bowling for Geddington Under-17's against Desborough Town Under-17's at Geddington Cricket Club.

Geddington Under-17's 2019 Season:

Higham & District Youth Cricket League Under-17's Division: Runners-Up Higham & District Youth Cricket League Under-17's Cup: Quarter-Final

Higham & District Youth Cricket League Under-17's Division 2019 Table:

Position	Team	Played	Points
С	Wellingborough Town Under-17's	8	29
2	GEDDINGTON Under-17's	8	22
3	Kettering Town Under-17's	8	21
4	Desborough Town Under-17's	8	17
5	Rushden & Higham Town Under-17's	8	14
6	Isham Under-17's	8	12
7	Finedon Dolben Under-17's	8	9
8	Earls Barton Under-17's	8	5
9	Thrapston Under-17's	8	5

Geddington Cricket Club Under-17's Higham & District Youth Cricket League Under-17's Division 2019 Results:

Thursday 9th May 2019 V Finedon Dolben Under-17's (Away) Match Result: Match Cancelled.

Thursday 16th May 2019 V Earls Barton Under-17's (Home) Match Result: Geddington won by 8 wickets.

Earls Barton 97-6 16 Overs (A Bushell 20, B Swain 16; Ben York 5-4, Brooklyn Biddle 1-27)

Geddington 98-2 12 Overs (Joshua Knight 48*, Cole McWilliam 24, Sam Smith 17; T Smart 1-15, M Eldershaw 1-18)

Thursday 23rd May 2019 V Thrapston Under-17's (Away) Match Result: Geddington won by 87 runs. Geddington 138-3 18 Overs (Cole McWilliam 45, Joshua Knight 39, Sam Smith 23; E Scholtz 2-16, S Evans 1-32)

Thrapston 51-9 18 Overs (E Scholtz 25; Archie Colwill 3-2, Stanley Kirk 3-3, Ben York 2-6, Zachary Byers 1-11)

Thursday 20th June 2019 V Desborough Town Under-17's (Home) Match Result: Geddington won by 9 wickets. Desborough Town 137-6 20 Overs (A Khan Pathan 64, J McLellan 29; Ben York 2-10, Brooklyn Biddle 2-20, Lewis Skorupa 1-9) Geddington 141-1 18.5 Overs (Cole McWilliam 49*, Joshua Knight 41, Benedict Harvey 40*; J McLellan 1-26)

Thursday 27th June 2019 V Wellingborough Town Under-17's (Away) Match Result: Wellingborough Town won by 9 wickets. Geddington 63-8 20 Overs (Sam Smith 22, Stanley Kirk 16; A Davies 2-3, M Hinds 1-4, J Batten 1-5)

Wellingborough Town 65-1 12.2 Overs (A Davies 31*, O West 19*; Sam Smith 1-12)

Thursday 4th July 2019 V Kettering Town Under-17's (Home) Match Result: Geddington won by 6 wickets.

Kettering Town 167-3 20 Overs (T Sims 47, M Watkins 31*, K Kooner 30*; Ben York 1-19, James Hogg 1-40) Geddington 171-4 19.5 Overs (Joshua Knight 62, Zachary Byers 37, Cole McWilliam 28, Ben York 18*; C Barton 1-18)

Thursday 11th July 2019 V Rushden & Higham Town Under-17's (Away) Match Result: Match Cancelled.

Thursday 18th July 2019 V Isham Under-17's (Home) Match Result: Geddington won by 9 wickets. Isham 103-5 18 Overs (H Robinson 31, J Parker 15; James Hogg 1-12, Lewis Skorupa 1-12, Joshua Knight 1-20, Ben McDade 1-24) Geddington 105-1 13.1 Overs (Joshua Knight 64*, James Hogg 24; A Robinson 1-8)

<u>Higham & District Youth Cricket League Under-17's Cup Competition:</u>

Quarter-Final:

Monday 17th June 2019 V Wellingborough Town Under-17's (Home) Match Result: Wellingborough Town won by 6 wickets. Geddington 105-7 20 Overs (Benedict Harvey 48, Stanley Kirk 13, Zachary Byers 12*; J Batten 3-16, S Batchelor 2-14) Wellingborough Town 107-4 17.5 Overs (S Coleman 41, W Farrar 37; Ben York 2-28, Archie Colwill 1-16)

Geddington Cricket Club Under-17's 2019 Higham & District Youth Cricket Under-17's Division & Cup Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's	100's
Joshua Knight	6	2	268	67.00	68	2	0
Cole McWilliam	6	1	153	30.60	49	0	0
Benedict Harvey	3	1	89	44.50	48	0	0
Sam Smith	3	0	62	20.67	23	0	0
Zachary Byers	4	2	58	29.00	37	0	0
Stanley Kirk	3	1	29	14.50	16	0	0
James Hogg	2	0	25	12.50	24	0	0
Ben York	3	1	25	12.50	18	0	0
Ben McDade	3	2	12	12.00	9	0	0
Sam Garley	1	1	3		3	0	0
Brooklyn Biddle	2	1	2	2.00	1	0	0
Connor Napier	1	1	1		1	0	0
Lewis Skorupa	1	1	1		1	0	0
Archie Colwill	1	0	1	1.00	1	0	0
Daniel McDade	1	0	0	0.00	0	0	0

Geddington Cricket Club Under-17's 2019 Higham & District Youth Cricket Under-17's Division & Cup Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Ben York	21	78	12	6.50	5-4	1
Archie Colwill	8.5	38	4	9.50	3-2	0
Brooklyn Biddle	14	71	3	23.67	2-20	0
Stanley Kirk	12	67	3	22.33	3-3	0
James Hogg	10	67	2	33.50	1-12	0
Lewis Skorupa	3	21	2	10.50	1-9	0
Joshua Knight	14	76	1	76.00	1-20	0
Zachary Byers	2	11	1	11.00	1-11	0
Sam Smith	3	12	1	12.00	1-12	0
Ben McDade	13.2	90	1	90.00	1-24	0
Drew Peel	8	46	0		0-4	0
Cole McWilliam	12	84	0		0-13	0
Benedict Harvey	1	8	0		0-8	0

Geddington Cricket Club Under-17's 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	101	Joshua Knight-James Hogg	V Isham Under-17's	Home	18 th July 2019
2nd	76*	Benedict Harvey-Cole McWilliam	V Desborough Town Under-17's	Home	20 th June 2019
3rd	38	Benedict Harvey-Stanley Kirk Cole McWilliam-Ben York	V Wellingborough Town Under-17's V Kettering Town Under- 17's	Home Home	17 th June 2019 4 th July 2019
4th	41	Sam Smith-Stanley Kirk	V Wellingborough Town Under-17's	Away	27 th June 2019
5th	16*	Ben York-Ben McDade	V Kettering Town Under- 17's	Home	4 th July 2019
6th	7	Stanley Kirk-Ben McDade	V Wellingborough Town Under-17's	Away	27 th June 2019
7th	5	Ben McDade-Daniel McDade	V Wellingborough Town Under-17's	Away	27 th June 2019
8th	14*	Zachary Byers-Ben McDade	V Wellingborough Town Under-17's	Home	17 th June 2019
9th	1*	Sam Garley-Lewis Skorupa	V Wellingborough Town Under-17's	Away	27 th June 2019

Geddington Cricket Club Under-17's 2019 Higham & District Youth Cricket League Under-17's Division Fielding Stats:

Catches:

Sam Garley 3 Catches, James Hogg, Zachary Byers & Ben York 2 Catches, Stanley Kirk, Joshua Knight, Lewis Skorupa & Ben McDade 1 Catch.

Run-Outs:

Sam Garley, Ben York, Stanley Kirk & Archie Colwill 1 Run-Out.

Stumpings:

Sam Garley 1 Stumping.

Geddington Cricket Club Under-17's 2019 Higham & District Youth Cricket League Under-17's Division Most Appearances:

Most Appearances:

Sam Garley 7 Appearances Joshua Knight, Cole McWilliam, Ben York & Ben McDade 6 Appearances Zachary Byers & Stanley Kirk 5 Appearances Benedict Harvey & Brooklyn Biddle 4 Appearances Sam Smith, James Hogg, Lewis Skorupa, Archie Colwill & Daniel McDade 3 Appearances

Geddington Cricket Club Under-17's 2019 Higham & District Youth Cricket League Under-17's Batting & Bowling Honours Board:

Joshua Knight 62 V Kettering Town Under-17's (Home) 4th July 2019. Joshua Knight 68* V Isham Under-17's (Home) 18th July 2019.

> 100's: None

5+ Wickets:

V Earls Barton Under-17's Ben York 16th May 2019. (Home)

Geddington Cricket Club Under-17's 2019 Match Action Shots:





Pictures: Cole McWilliam & Stanley Kirk V Thrapston Under-17's at Thrapston Cricket Club.

Geddington Cricket Club Under-17's 2019 Match Action Shots Part 2:



Pictures: Archie Colwill & Drew Peel V Thrapston Under-17's at Thrapston Cricket Club, Cole McWilliam, Brooklyn Biddle, Joshua Knight, Ben York, Ben McDade & Benedict Harvey V Desborough Town Under-17's at Geddington Cricket Club.

Geddington Cricket Club Under-17's 2019 Match Action Shots Part 3:



Pictures: Cole McWilliam V Desborough Town Under-17's at Geddington Cricket Club, James Hogg, Ben York, Joshua Knight, Ben McDade, Cole McWilliam, Zachary Byers & Joshua Knight V Kettering Town Under-17's at Geddington Cricket Club.

Geddington Cricket Club Under-15's 2019 Season Review:



Geddington Under-15's 2019 Season:

Corby & District Youth Cricket League Under-15's Division: Champions Corby & District Youth Cricket League Under-15's Cup: Winners

Corby & District Youth Cricket League Under-15's Division 2019 Table:

Position	Team	Played	Points
С	GEDDINGTON Under-15's	13	43
2	Loddington & Mawsley Under-15's	13	38
3	Burton Latimer Under-15's	13	34
4	Rushton Under-15's	13	34
5	Kettering Town Blues Under-15's	13	27
6	Great Oakley Under-15's	13	26
7	Weekley & Warkton Under-15's	13	24
8	Langtons Under-15's	13	23
9	Bowden Under-15's	13	20
10	Weldon Under-15's	13	14
11	Desborough Town Under-15's	13	11
12	Barton Seagrave Under-15's	13	9
13	Brigstock Under-15's	13	9
14	Kettering Town Whites Under-15's	13	6

Geddington Cricket Club Under-15's Corby & District Youth Cricket League Under-15's Division 2019 Results:

Wednesday 24th April 2019 V Weldon Under-15's (Home) Match Result: Geddington won by 105 runs.

Geddington 136-2 16 Overs (Connor Napier 48*, Poppy Gibson 34, Sam Smith 19*; C Hay 1-12, K Potter 1-18)

Weldon 31-8 16 Overs (A Wymant 13; Connor Napier 2-1, Archie Colwill 2-4, Caitlyn Connelly 2-4, James Hogg 1-0)

Tuesday 30th April 2019 V Burton Latimer Under-15's (Away) Match Result: Geddington won by 77 runs.

Geddington 155-1 20 Overs (Sam Smith 52*, Connor Napier 50*, Joshua Knight 29)
Burton Latimer 78 16 Overs (N Ferry 26, S Dexter 20; Joshua Knight 4-1, Archie Colwill 3-7, Poppy Gibson 1-4, Drew Peel 1-12)

Tuesday 7th May 2019 V Brigstock Under-15's (Home) Match Result: Geddington won by 7 wickets.

Brigstock 75-8 16 Overs (D De Choisy 24*, H Howell 16; James Hogg 2-3, Archie Colwill 2-12, Drew Peel 1-5, Daniel McDade 1-6) Geddington 78-3 7.2 Overs (Sam Smith 41*, Poppy Gibson 6; A O'Neill 2-22, O Frost 1-33)

Tuesday 21st May 2019 V Kettering Town Blues Under-15's (Home) Match Result: Geddington won by 9 wickets.

Kettering Town Blues 85-4 20 Overs (E Smart 26, T Storey 20; Drew Peel 1-5, Archie Colwill 1-13, Caitlyn Connelly 1-13) Geddington 89-1 9 Overs (Joshua Knight 34*, Connor Napier 25*, Sam Smith 16; M Bambridge 1-25)

Tuesday 28th May 2019 V Langtons Under-15's (Away) Match Result: Geddington won by 1 wicket.

Langtons 113-6 20 Overs (W Murray 32*, J Tobin 31; Joshua Knight 3-20, Lewis Skorupa 1-12, Archie Colwill 1-17)

Geddington 115-9 18.4 Overs (Joshua Knight 61*, Lewis Skorupa 14*; J Tobin 4-24, L Fertig 2-17)

Tuesday 11th June 2019 V Weekley & Warkton Under-15's (Away) Match Result: Match Cancelled.

Tuesday 18th June 2019 V Bowden Under-15's (Home) Match Result: Match Cancelled.

Tuesday 25th June 2019 V Barton Seagrave Under-15's (Home) Match Result: Match Cancelled.

Tuesday 2nd July 2019 V Desborough Town Under-15's (Home) Match Result: Desborough Town Conceded.

Tuesday 9th July 2019 V Great Oakley Under-15's (Away) Match Result: Geddington won by 8 wickets. Great Oakley 78-6 18 Overs (H Pullen 18, A Cullen 14; Joshua Knight 1-3, Connor Napier 1-3, Lewis Skorupa 1-10)

Geddington 79-2 7.3 Overs (Sam Smith 24*, Joshua Knight 20, Daniel McDade 19*; A Cullen 1-16, R Wood 1-17)

Tuesday 16th July 2019 V Kettering Town Whites Under-15's (Home) Match Result: Geddington won by 10 wickets. Kettering Town Whites 63-8 20 Overs (C Fox 16, M Bambridge 14*; Hanna McDade 5-6, James Hogg 2-13, Archie Colwill 1-4) Geddington 66-0 6.1 Overs (Connor Napier 46*, Poppy Gibson 13*)

Tuesday 23rd July 2019 V Loddington & Mawsley Under-15's (Away) Match Result: Geddington won by 7 wickets. Loddington & Mawsley 161-2 20 Overs (J Thomas 51*, J Dunk 50*, L Vaz 13; Drew Peel 1-43)

Geddington 162-3 18.1 Overs (Joshua Knight 50*, Connor Napier 35, Poppy Gibson 28, James Hogg 15*; J Dunk 1-18)

Tuesday 30th July 2019 V Rushton Under-15's (Away) Match Result: Rushton Conceded.

Corby & District Youth Cricket League Under-15's Cup Competition: Quarter-Final:

Monday 24th June 2019 V Brigstock Under-15's (Away) Match Result: Geddington won by 155 runs.

Geddington 200-1 20 Overs (Joshua Knight 53*, Connor Napier 51*, Poppy Gibson 48*, Sam Smith 16*; J Cullinan 1-54)
Brigstock 45 13.2 Overs (J Cullinan 17*; Joshua Knight 2-0, Caitlyn Connelly 2-3, Archie Colwill 2-7, Drew Peel 1-2, Kieran Hamdi 1-8)

Semi-Final:

Thursday 11th July 2019 V Great Oakley Under-15's (Home) Match Result: Geddington won by 10 wickets. Great Oakley 39 10.2 Overs (A Cullen 20; James Hogg 4-0, Archie Colwill 3-5, Drew Peel 2-16, Lewis Skorupa 1-1) Geddington 40-0 2.4 Overs (Joshua Knight 23*, Connor Napier 8*)

Final:

Friday 26th July 2019 V Loddington & Mawsley Under-15's (Away) Match Result: Geddington won by 8 wickets.

Loddington & Mawsley 81-4 18 Overs (R Singh 47*, W Moss 14; Drew Peel 1-7, James Hogg 1-7, Archie Colwill 1-8, Sam Smith 1-11) Geddington 83-2 11.4 Overs (Joshua Knight 53*, Sam Smith 28; J Singh 1-11, J Dunk 1-14)



Picture:

Geddington Under-15's being presented with the Corby & District Youth Cricket League Under-15's Division Trophy at the Corby & District Youth Cricket League Presentation Night at the Grampian Club in Corby, after finishing champions of the league for the second season running, after winning the title in 2018.

Geddington Cricket Club Under-15's 2019 Corby & District Youth Cricket League Under-15's Division & Cup Batting Averages:

Name	Innings	Not Out	Runs	Average	HS	50's
Joshua Knight	10	6	326	81.50	61	4
Connor Napier	11	6	280	56.00	51	2
Sam Smith	9	5	214	53.50	52	1
Poppy Gibson	6	3	134	44.67	48	0
Daniel McDade	4	3	28	28.00	19	0
James Hogg	4	3	27	27.00	15	0
Lewis Skorupa	1	1	14		14	0
Archie Colwill	1	0	3	3.00	3	0
Dilan Chotai	2	0	1	0.50	1	0
Drew Peel	1	0	0	0.00	0	0
Sam Garley	1	0	0	0.00	0	0
Hanna McDade	1	0	0	0.00	0	0

Geddington Cricket Club Under-15's 2019 Corby & District Youth Cricket League Under-15's Division & Cup Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Archie Colwill	30	81	16	5.06	3-5	0
Joshua Knight	19.2	73	12	6.08	4-1	0
James Hogg	25	103	10	10.30	4-0	0
Drew Peel	25	125	9	13.89	2-16	0
Caitlyn Connelly	23	100	7	14.29	2-3	0
Hanna McDade	5	8	5	1.60	5-6	0
Connor Napier	3	10	3	3.33	2-1	0
Lewis Skorupa	13.2	54	3	18.00	1-1	0
Daniel McDade	13	77	3	25.67	1-6	0
Dilan Chotai	10	50	1	50.00	1-11	0
Poppy Gibson	6	29	1	29.00	1-4	0
Sam Smith	11	51	1	51.00	1-11	0
Kieran Hamdi	2	8	1	8.00	1-8	0
Jayden Hamdi	2	7	0		0-7	0

Geddington Cricket Club Under-15's 2019 Highest Wicket Partnerships:

Wicket Partnership	Score	Batsman	Opposition	Venue	Date
1st	151	Sam Smith-Connor Napier-Poppy Gibson-Joshua Knight	V Burton Latimer Under- 15's	Away	30 th April 2019
2nd	129*	Poppy Gibson-Joshua Knight- Sam Smith	V Brigstock Under-15's	Away	24 th June 2019
3rd	52*	Connor Napier-Sam Smith	V Weldon Under-15's	Home	24 th April 2019
4th	45*	Sam Smith-James Hogg	V Brigstock Under-15's	Home	7 th May 2019
5th	45	Joshua Knight-James Hogg- Daniel McDade	V Langtons Under-15's	Away	28 th May 2019
6th	3	Daniel McDade-Archie Colwill	V Langtons Under-15's	Away	28 th May 2019
7th	9	Archie Colwill-Lewis Skorupa	V Langtons Under-15's	Away	28 th May 2019
8th	11	Lewis Skorupa-Sam Garley	V Langtons Under-15's	Away	28 th May 2019
9th	1	Lewis Skorupa-Drew Peel	V Langtons Under-15's	Away	28 th May 2019
10th	9*	Lewis Skorupa-Joshua Knight	V Langtons Under-15's	Away	28 th May 2019

Geddington Cricket Club Under-15's 2019 Corby & District Youth Cricket League Under-15's Division Fielding Stats:

Catches:

Connor Napier 7 Catches, Drew Peel 4 Catches, Joshua Knight, Sam Garley & Daniel McDade 3 Catches, James Hogg, Sam Smith, Archie Colwill & Caitlyn Connelly 1 Catch.

Run-Outs:

Drew Peel, Sam Garley & Sam Smith 1 Run-Out.

Stumpings:
None

Geddington Cricket Club Under-15's 2019 Corby & District Youth Cricket League Under-15's Division Most Appearances:

Most Appearances:

Joshua Knight, Connor Napier, Drew Peel & Sam Garley Sam Smith, Daniel McDade, James Hogg & Archie Colwill

Caitlyn Connelly Dilan Chotai

Poppy Gibson

Lewis Skorupa Hanna McDade

Kieran Hamdi & Jayden Hamdi

11 Appearances

10 Appearances

9 Appearances

8 Appearances

7 Appearances

6 Appearances

5 Appearances

1 Appearances

Geddington Cricket Club Under-15's 2019 Corby & District Youth Cricket League Under-15's Batting & Bowling Honours Board:

- 1-					
			<u>50's:</u>		
	Sam Smith	52	V Burton Latimer Under-15's	(Away)	30 th April 2019.
	Connor Napier	50	V Burton Latimer Under-15's	(Away)	30 th April 2019.
	Joshua Knight	61*	V Langtons Under-15's	(Away)	28 th May 2019.
	Connor Napier	51	V Brigstock Under-15's	(Away)	24 th June 2019.
	Joshua Knight	53	V Brigstock Under-15's	(Away)	24 th June 2019.
	Joshua Knight	50	V Loddington & Mawsley Under-15's	(Away)	23 rd July 2019.
	Joshua Knight	53*	V Loddington & Mawsley Under-15's	(Away)	26 th July 2019.
			<u>5+ Wickets:</u>		
	Hanna McDade	5-6	V Kettering Town Whites Under-15's	(Home)	16 th July 2019.



Picture: Geddington Under-15's Team Photo at the Geddington Cricket Club Presentation Night, after winning the Corby & District Youth Cricket League Under-15's Division and Winning the Cup Competition for second successive season in 2019.

Geddington Cricket Club Under-13's 2019 Season Review:



Geddington Under-13's 2019 Season:

Corby & District Youth Cricket League Under-13's Division 1: 12th Place Corby & District Youth Cricket League Under-13's Cup: Round 1

Corby & District Youth Cricket League Under-13's Division 1 2019 Table:

Position	Team	Played	Points
С	Loddington & Mawsley Under-13's	11	37
2	Burton Latimer Under-13's	11	37
3	Desborough Town Under-13's	11	34
4	Weekley & Warkton Under-13's	11	33
5	Barton Seagrave Under-13's	11	25
6	Bowden A Under-13's	11	17
7	Medbourne Under-13's	11	17
8	Langtons Under-13's	11	16
9	Brigstock Under-13's	11	9
10	Kettering Town Blues Under-13's	11	9
11	Weldon Under-13's	11	9
12	GEDDINGTON Under-13's	11	7

Geddington Cricket Club Under-13's Corby & District Youth Cricket League Under-13's Division 1 2019 Results:

Monday 29th April 2019 V Kettering Town Blues Under-13's (Away) Match Result: Kettering Town Blues won by 7 wickets. Geddington 45-6 18 Overs (Daniel McDade 22, Hanna McDade 5; I Jacobs 3-2, S Bains 1-3, J Marlow 1-7) Kettering Town Blues 46-3 11.3 Overs (J Marlow 8, W Wears 7; Daniel McDade 2-8, Maisie Peel 1-4)

Monday 6th May 2019 V Weekley & Warkton Under-13's (Home) Match Result: Weekley & Warkton won by 37 runs. Weekley & Warkton 97-5 18 Overs (F Drake-Lee 30*, A Rootham 13; Hanna McDade 2-5, Evan Arnold 1-5, Daniel McDade 1-9) Geddington 60-4 18 Overs (Jack Edwards 32*, Henry Brandrick 9; F Drake-Lee 1-3, F Harrow 1-3, W Homer 1-4)

Monday 13th May 2019 V Bowden A Under-13's (Home) Match Result: Bowden A won by 59 runs.

Bowden A 93-5 18 Overs (F Wilson 30*, T Mercer 20; Daniel McDade 2-10, Henry Brandrick 1-7, Evan Arnold 1-10) Geddington 34 13.4 Overs (Hanna McDade 12; T Mercer 3-0, C Rodgers 1-0, G Williams 1-2, D Pearson 1-2)

Monday 20th 2019 V Burton Latimer Under-13's (Home) Match Result: Burton Latimer won by 9 wickets.

Geddington 30 16 Overs (E Arnold 20; M Sturgess 3-4, K French 3-5, G Wittering 1-0, D Sewell 1-1, N Bulita 1-1) Burton Latimer 33-1 7.5 Overs (A Ridgeway 17*, M Pike 4*; Daniel McDade 1-0)

Monday 27th May 2019 V Barton Seagrave Under-13's (Away) Match Result: Barton Seagrave won by 7 wickets. Geddington 47-7 16 Overs (K Hamdi 8, C Layer 8; K Rees 2-7, J Perkins 2-8, N Jackson 1-3)

Barton Seagrave 51-3 10.4 Overs (J Pringle 15, J Perkins 10; Charlie Layer 1-0, Daniel McDade 1-4, Evan Arnold 1-19)

Monday 3rd June 2019 V Loddington & Mawsley Under-13's (Away) Match Result: Loddington & Mawsley won by 52 runs. Loddington & Mawsley 129-3 18 Overs (L Hawthorne 30*, R Singh 30*; Oliver Chambers 1-12, Finley Skorupa 1-14) Geddington 77-6 18 Overs (Daniel McDade 26, Evan Arnold 13, Hanna McDade 12*; A Coyle 2-13, O Daw 1-3, T Vaz 1-8)

Monday 10th June 2019 V Medbourne Under-13's (Home) Match Result: Match Cancelled.

Monday 17th June 2019 V Weldon Under-13's (Away) Match Result: Geddington won by 4 wickets.

Weldon 73-6 20 Overs (J Kerfoot 14, K Potter 11; Maisie Peel 2-0, Jayden Hamdi 2-17, Finley Skorupa 1-6, Daniel McDade 1-10) Geddington 75-6 16 Overs (Daniel McDade 30*, Jayden Hamdi 10*; A Torrance 2-0, R Millard 1-4, R Kelleher 1-9)

Monday 24th June 2019 V Brigstock Under-13's (Home) Match Result: Brigstock won by 8 wickets. Geddington 88-5 20 Overs (Finley Skorupa 27*, Daniel McDade 24, Evan Arnold 18; M Spencer 2-4, J Zacharias 2-8) Brigstock 90-2 12.3 Overs (H Wooster 31*, M Cosgrove 28; Daniel McDade 1-9, Jayden Hamdi 1-13)

Monday 1st July 2019 V Desborough Town Under-13's (Home) Match Result: Desborough Town won by 8 wickets.

Geddington 47 17 Overs (Daniel McDade 31*, Henry Brandrick 7; R Marshall 4-5, J Gibbs 3-7) Desborough Town 48-2 12.4 Overs (E Graves 15*, J Gibbs 14; Maisie Peel 1-3, Charlie Layer 1-7)

Monday 8th July 2019 V Langtons Under-13's (Home) Match Result: Match Tied. Langtons 122-6 20 Overs (J Rhodes 31*, N Corry 30*; Maisie Peel 3-4, Jack Edwards 2-14, Daniel McDade 1-20)

Geddington 122-6 20 Overs (Hanna McDade 30*, Daniel McDade 25, Finley Skorupa 17, Jack Edwards 17; E Bootheway 2-20)

Corby & District Youth Cricket League Under-13's Cup Competition: Round 1:

Thursday 16th May 2019 V Medbourne Under-13's (Home) Match Result: Medbourne won by 86 runs. Medbourne 122-6 18 Overs (C Bunting 30*, M Robertson 23; Evan Arnold 2-9, Adam Arnold 1-6, Hanna McDade 1-14) Geddington 36 16 Overs (Evan Arnold 10; C Bunting 4-8, S Stevens 2-3, C Buck 1-0, A Clarkson 1-3)

Geddington Cricket Club Under-13's 2019 Corby & District Youth Cricket League Under-13's Division 1 Most Appearances:

Most Appearances:

Daniel McDade & Hanna McDade 11 Appearances Evan Arnold, Kieran Hamdi, Henry Brandrick, Harry Stephens & Maisie Peel 10 Appearances Lucy Raubenheimer & Oliver Chambers 9 Appearances 7 Appearances Charlie Layer 6 Appearances Jack Edwards, Finley Skorupa & Jayden Hamdi Adam Arnold 5 Appearances

Geddington Cricket Club Under-13's 2019 Corby & District Youth Cricket League Under-13's Division 1 Fielding Stats:

Catches:

Kieran Hamdi 4 Catches, Daniel McDade 3 Catches, Henry Brandrick 2 Catches, Jack Edwards & Jayden Hamdi 1 Catch.

Run-Outs:

Evan Arnold 1 Run-Out.

Stumpings:

None

Geddington Cricket Club Under-13's 2019 Corby & District Youth Cricket League Under-13's Division 1 & Cup Batting Averages:

Name	Innings	Not Out	Runs	Average	HS
Daniel McDade	11	2	168	18.67	31
Hanna McDade	10	2	77	9.63	30
Evan Arnold	8	0	74	9.25	20
Jack Edwards	6	1	57	11.40	32
Finley Skorupa	6	1	49	9.80	27
Kieran Hamdi	9	0	27	3.00	8
Henry Brandrick	10	1	20	2.22	9
Jayden Hamdi	5	2	15	5.00	10
Charlie Layer	6	0	10	1.67	8
Lucy Raubenheimer	6	2	9	2.25	7
Harry Stephens	8	1	4	0.57	2
Maisie Peel	7	6	2	2.00	2
Oliver Chambers	5	2	2	0.67	1
Adam Arnold	3	0	1	0.33	1

Geddington Cricket Club Under-13's 2019 Corby & District Youth Cricket League Under-13's Division 1 & Cup Bowling Averages:

Name	Overs	Runs	Wickets	Average	Best Figures	5+ W
Daniel McDade	31	107	11	9.73	2-8	0
Maisie Peel	12	35	7	5.00	3-4	0
Evan Arnold	26	92	5	18.40	2-9	0
Jack Edwards	11	85	3	28.33	2-14	0
Hanna McDade	17	68	3	22.67	2-5	0
Jayden Hamdi	10.5	57	3	19.00	2-17	0
Finley Skorupa	9.4	98	2	49.00	1-6	0
Charlie Layer	7.3	27	2	13.50	1-0	0
Henry Brandrick	19	101	2	50.50	1-7	0
Harry Stephens	6.4	46	1	46.00	1-16	0
Adam Arnold	4	24	1	24.00	1-6	0
Oliver Chambers	4.3	36	1	36.00	1-12	0
Kieran Hamdi	8	48	0		0-7	0

Geddington Cricket Club Under-11's 2019 Season Review:



Geddington Under-11's 2019 Season:

Corby & District Youth Cricket League Under-11's Division B: 4th Place Corby & District Youth Cricket League Under-11s Cup: Quarter-Final

Corby & District Youth Cricket League Under-11's Division B 2019 Table:

Position	Team	Played	Points
С	Finedon Dolben C Under-11's	9	36
2	Desborough Town Under-11's	9	24
3	Bowden Whites Under-11's	9	24
4	GEDDINGTON Under-11's	9	20
5	Barton Seagrave Under-11's	9	12
6	S & L Corby Under-11's	9	12
7	Kettering Town Whites Under-11's	9	8
8	Old Under-11's	9	8

Geddington Cricket Club Under-11's Corby & District Youth Cricket League Under-11's Division B 2019 Results:

Sunday 5th May 2019 V Finedon Dolben C Under-11's (Away) Match Result: Finedon Dolben C won by 35 runs.

Finedon Dolben C 276-3 16 Overs

Geddington 241-5 16 Overs

Sunday 12th May 2019 V Bowden Whites Under-11's (Away) Match Result: Bowden Whites won by 29 runs.

Bowden Whites 248-1 16 Overs (O Lawrence 10)

Geddington 219-4 16 Overs (Henry Brandrick 7, Charlie Layer 7; F Greaves 3-7)

Sunday 26th May 2019 V Kettering Town Whites Under-11's (Home) Match Result: Geddington won by 131 runs.

Kettering Town Whites 185-9 16 Overs (V Zumkhawala 5; Lucy Raubenheimer 3-0, Jayden Hamdi 2-4, Charlie Layer 2-5, F Temple 1-2) Geddington 316-1 16 Overs (Henry Brandrick 24, Hanna McDade 13, Charlie Layer 9; T Smith 1-11)

Sunday 2nd June 2019 V Old Under-11's (Away) Match Result: Geddington won by 57 runs.

Old 214-5 16 Overs (K Hansen 4; Lucy Raubenheimer 2-0, Henry Brandrick 2-4, Hanna McDade 1-4)

Geddington 271-5 16 Overs (Hanna McDade 15, Henry Brandrick 15, Jayden Hamdi 14, Charlie Adams 10; K Hansen 3-24)

Sunday 9th June 2019 V Desborough Town Under-11's (Home) Match Result: Desborough Town won by 32 runs.

Desborough Town 247-7 16 Overs (A Ulhaq 16, J Gibbs 9; Charlie Layer 2-6, Hanna McDade 2-11, Henry Brandrick 1-4)

Geddington 215 16 Overs (Henry Brandrick 8, Lucy Raubenheimer 7; J Gibbs 3-5, A Ulhaq 2-8)

Sunday 23rd June 2019 V Barton Seagrave Under-11's (Home) Match Result: Geddington won by 94 runs.

Geddington 279-3 16 Overs (Henry Brandrick 12, Hanna McDade 11, Charlie Layer 11; C Norman 2-5) Barton Seagrave 185 16 Overs (F Osbourne 5; Charlie Layer 3-2, Henry Brandrick 2-1, Adam Arnold 2-9)

Sunday 30th June 2019 V S & L Corby Under-11's (Home) Match Result: Geddington won by 27 runs.

S & L Corby 204-11 16 Overs (F McGeown 12; Charlie Layer 3-0, Jayden Hamdi 3-3, Hanna McDade 2-2, Henry Brandrick 2-2) Geddington 231-5 16 Overs (Jayden Hamdi 15, Henry Brandrick 9, Charlie Layer 8; R Neave 3-8)

Sunday 14th July 2019 V Finedon Dolben C Under-11's Match Result: Finedon Dolben C Won.

No Match Information Available.

Sunday 21st July 2019 V Bowden Whites Under-11's (Away) Match Result: Geddington won by 59 runs. Bowden Whites 226-6 16 Overs (O Lawrence 9; Freddie Temple 2-8, Lucy Raubenheimer 1-6, Hanna McDade 1-6) Geddington 285-5 16 Overs (Hanna McDade 18, Lucy Raubenheimer 15, Henry Brandrick 9)

Corby & District Youth Cricket League Under-11's Cup Competition: Round 1:

Sunday 19th May 2019 V Great Oakley Under-11's (Away) Match Result: Geddington won by 61 runs.

Great Oakley 221-7 16 Overs Geddington 282-0 16 Overs

Quarter-Final:

Friday 28th June 2019 V Weekley & Warkton Under-11's (Home) Match Result: Weekley & Warkton won by 29 runs. Weekley & Warkton 279-5 16 Overs (S Sieunarine 31, A Dalziel 23; Hanna McDade 2-11, Jayden Hamdi 1-4, Lucy Raubenheimer 1-7) Geddington 250-4 16 Overs (Henry Brandrick 18, Charlie Layer 8, Lucy Raubenheimer 6; A Singh Brar 2-5, B Sieunarine 1-2)



Picture: Geddington Under-11's Team Photo after victory by 131 runs and scoring 316-1 (Starting at 200) in 16 overs against Kettering Town Whites Under-11's at Geddington Cricket Club.

Barkby United 1st XI V Geddington 1st XI Friendly Saturday 13th April 2019:

Barkby United 1st XI V Geddington 1st XI Match Result: Geddington won by 3 wickets.

Barkby United 245-9 50 Overs (D Tew 52, M Troop 48, B Silver 40; Cameron Braans 4-25, Al Mahmud Hasan 2-33) Geddington 246-7 46.1 Overs (Jack Parker 104*, Chris Harrison 36, Andrew Reynoldson 36, Sam Smith 24*; Jamie Drake 3-36)



Pictures: Colin Griggs, Al Mahmud Hasan, Sam Smith, Adil Arif, George Parker & Jack Parker V Barkby United at Barkby United Cricket Club.

Barkby United 1st XI V Geddington 1st XI Friendly Saturday 13th April 2019:



Pictures: Cameron Braans, Chris Harrison, Ned Wilson, Andrew Reynoldson, Jack Parker & Adil Arif V Barkby United at Barkby United Cricket Club.

Geddington Cricket Club 2019 Six A Side Review Sunday 7th July 2019:



Picture: Geddington Cricket Club 2019 Six A Side winning captain Joshua Knight in action for the winners of the 2019 Six A Side competition Too Many Late Knights.

2019 Geddington Cricket Club Six A Side Group A & B Tables:

Group A:

Position	Team	Played	Points
Q	Fine Legs	3	6
2	Headband Smashers	3	4
3	Grange Road	3	2
4	A43	3	0

Group B:

Position	Team	Played	Points
Q	Too Many Late Knights	3	4
2	Boppers Legends	3	4
3	Geddington School Parents	3	4
4	Queen Street Royals	3	0

2019 Geddington Cricket Club Six A Side Final Results:

Final:
Fine Legs V Too Many Late Knights
Match Result: Too Many Late Knights Won

Fine Legs 56-1 5 Overs

Too Many Late Knights 57-1 5 Overs (Marcus Knight 30, Joshua Knight 25*)

2019 Geddington Cricket Club Six A Side Half-Centurions:

Ben York (Headband Smashers) 67* V Grange Road

Jonathan Freeman (Queen Street Royals) 63* V Bopper Legends

> Oliver Brown (Bopper Legends) 65* V Too Many Late Knights

2019 Geddington Cricket Club Six A Side Player Of The Tournament:

Marcus Knight (Too Many Late Knights)

Geddington Cricket Club 2019 Six A Side Match Action Shots:



Pictures: Cole McWilliam (Headband Smashers), Cliff Biddle & Brando Biddle (Grange Road), Oliver Brown, Ben Cox & Damian Cox (Big Boppers), Tom Spence & Harry Spence (A43).

Geddington Cricket Club 2019 Six A Side Match Action Shots Part 2:



Pictures: Marcus Knight, Paul Smith & Matt Knight (Too Many Late Knights), Sam Smith (Headband Smashers), Matt Johns & Sam Garley (A43), Ben York (Headband Smashers), Jonathan Freeman (Queen Street Royals).

Geddington Cricket Club 2019 Six A Side Match Action Shots Part 3:



Pictures: Brodie Biddle & Harry Bolton (Grange Road), Paul Smith (Too Many Late Knights), Keegan Biddle (Fine Legs), Zachary Byers & Sam Smith (Headband Smashers), Marcus Knight (Too Many Late Knights), Brando Biddle (Grange Road).

Geddington Cricket Club 2019 Six A Side Match Action Shots Part 4:



Pictures: David Goodjohn & Adil Arif (Grange Road), Colin Judd (Geddington School Parents), Graeme Atkins (Queen Street Royals), Harry Bolton (Grange Road), Keegan Biddle (Fine Legs), Ned Wilson (Headband Smashers), Marcus Knight (Too Many Late Knights).

Nathan Armstrong Northamptonshire Natwest OCSAS Award Pictures April 2019:

Geddington CC Club Scorer Nathan Armstrong was presented with the Northants Natwest Outstanding Service Award for Officiating in April at Northamptonshire County Cricket Ground, and was presented with his award from Northamptonshire Chairman Gavin Warren, Northamptonshire Players Charlie Thurston and Saif Zaib and West Indies Captain Jason Holder, here are some pictures from the day that Nathan was presented with his award.





Nathan Armstrong Reaches 300 Geddington 1st XI League Matches As Scorer July 2019:

In July, Geddington CC Club Scorer Nathan Armstrong reached his 300th Geddington 1st XI League Matches as the scorer for the club, his 300th match came in the match against Old Northamptonians 1st XI at Old Northamptonians Cricket Club on the 13th July 2019. Nathan was presented by Geddington 1st XI Captain Andrew Reynoldson & Tiaan Raubenheimer with a tanker to celebrate reaching 300 matches, before the Desborough Town 1st XI match at Geddington Cricket Club on 20th July 2019.

Picture: Nathan Armstrong pictured with Geddington 1st XI Captain Andrew Reynoldson and Tiaan Raubenheimer with his presentation for reaching 300 1st XI League matches.



Benedict Harvey Wins 2019 Northamptonshire Cricket League Tony Nutt Young Player Of The Year Award.

Geddington Cricket Club's Benedict Harvey won the 2019 Northamptonshire Cricket League Tony Nutt Young Player Of The Year Award at the NCL Presentation Evening, at Northamptonshire County Cricket Ground in October, Benedict scored his first Northamptonshire Cricket League Premier Division Century against Wollaston 1st XI at Wollaston Cricket Club in August.

Picture: Benedict Harvey being presented with his Northamptonshire Cricket League Tony Nutt Young Player Of The Year Award at the Geddington Cricket Club Presentation Evening in October by Geddington CC 1st XI Captain Andrew Reynoldson.



Geddington Cricket Club Junior Presentation Evening Friday 6th September 2019:

Girls:

Junior Girls Coaches Award: Maisie Peel

Junior Girls Batter Of The Year: Hanna McDade Junior Girls Bowler Of The Year: Lucy Raubenheimer

Under-11's:

Coaches Award: Joe Boniface Batter Of The Year: Henry Brandrick Bowler Of The Year: Charlie Layer Player Of The Year: Jayden Hamdi

Under-13's:

Coaches Award: Harry Stephens Batter Of The Year: Daniel McDade Bowler Of The Year: Maisie Peel Player Of The Year: Daniel McDade

All Stars Players received all their medals for their participation in this years All Stars.



Pictures: Geddington Cricket Club 2019 Junior Presentation Evening Pictures at Geddington Cricket Club in September.

Geddington Cricket Club Senior Presentation Night Friday 25th October 2019:

Ladies Team:

Player Of The Year: Hanna McDade Batsman Of The Year: Hanna McDade Bowlers Of The Year: Hanna McDade

Most Improved Player Of The Year: Amelia Byers

Sunday Team:

Batsman Of The Year: Daniel McDade **Bowler Of The Year:** Lewis Skorupa

Under-15's:

Player Of The Year: Joshua Knight Batsman Of The Year: Joshua Knight Bowler Of The Year: Archie Colwill

Under-17's:

Player Of The Year: Sam Garley Batsman of The Year: Joshua Knight Bowler Of The Year: Ben York

4th Team:

Player Of The Year: Ben McDade Batsman Of The Year: Paul Rowden Bowler Of The Year: Alex Rowden

Most Improved Player Of The Year:

Caitlyn Connelly

3rd Team:

Player Of The Year: Mark Pearson Batsman Of The Year: Harry Spence Bowler Of The Year: Archie Colwill

2nd Team:

Player Of The Year: Sam Smith Batsman Of The Year: Joshua Knight Bowler Of The Year: Jack Connelly

Young Player Of The Year:

Benedict Harvey

1st Team:

Player Of The Year: Bradley Armer Batsman Of The Year: Andrew Reynoldson Bowler Of The Year: George Parker

Clubperson Of The Year:

Lorraine Smith



Geddington Cricket Club
2019
Senior Presentation Night

Pictures on Page 76-77.

Geddington Cricket Club Senior Presentation Night Friday 25th October 2019 Pictures:



Pictures: Geddington Cricket Club 2019 Senior Presentation Night Pictures at Geddington Village Hall in October.

Geddington Cricket Club Senior Presentation Night Friday 25th October 2019 Pictures Part 2:



Pictures: Geddington Cricket Club 2019 Senior Presentation Night Pictures at Geddington Village Hall in October.

Northamptonshire Over 50's V Lincolnshire Over 50's ECB 50+ County Championship Group 2 Wednesday 10th July 2019 At Geddington Cricket Club.

Northamptonshire Over 50's V Lincolnshire Over 50's Match Result: Northamptonshire won by 8 runs.

Northamptonshire 260-4 45 Overs (Darren Harrison 100, Alan Sewell 85, Chris York 26; G Spencer 2-38, P Bradley 1-28) Lincolnshire 252-9 45 Overs (S Behan 104, R Binnington 24; Stephen Finch 3-51, Terry Butt 3-55, Tony Hall 1-43)



Geddington Cricket Club County Cricket Representatives in 2019

Northamptonshire Women's 1st XI:

Poppy Gibson Caitlyn Connelly

Northamptonshire Over 50's ECB 50+ County Championship:

Dave Wood Mark Pearson

Bedfordshire County Cricket Club 1st XI:

Andrew Reynoldson Patrick Harrington

Bedfordshire County Cricket Club 2nd XI:

James Taylor

Northamptonshire Boys Under-15's:

Sam Smith

Northamptonshire Girls Under-15's:

Iris Kirk Poppy Gibson Ella Harvey Caitlyn Connelly

Geddington Cricket Club Misc Photos:



Pictures: Crowds at the Geddington Cricket Club Beer Festival Weekend & Gedd-Stock, Cakes for the MacMillan Coffee Afternoon, Oompah Night at the Geddington Village Hall, Geddington Cricket Club 1st XI & Horton House 1st XI Players warming up with the game of Football on the final day of the 2019 cricket season.

